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Math Simplified Material(2023-24)  

Class 8th 
One Mark Questions 

Rational Numbers 
1)  5 ਦਾ ਗੁਣਾਤਭਕ ਉਰਟ ਦੱਸ੅।Multiplicative inverse of 5 : 

a) 1

5
    b) - 5   c) − 1

5
     d) 1 

2) ਖਾਰੀ ਥਾਂ ਬਯ੅ : (- 
4

5
) + 1

5
 = ...........+ (- 4

5
)  . 

   Fill in the blank: (- 
4

5
) + 1

5
 = ...........+ (- 4

5
)  . 

a) -1   b) 1

5
     c) - 4

5
      d) 0 

3) ਹ੃ਠ ਦਦੱਦਤਆਂ ਦ ੱਚੋਂ ਦਕਹੜੀ ਩ਦਯਭ੃ਮ ਸੰਦਖਆ ਆ਩ਣ੃ ਉਰਟਕਰਭ ਦ੃ ਫਯਾਫਯ ਹ੄? 
   Which of the following rational number is equal to its reciprocal? 

a) 0   b)  -10           c) -1    d) 2 
4) 3

5
 ਅਤ੃ 4

5
 ਦ੃ ਦ ਚਕਾਯ ਦਕੰਨੀਆਂ ਩ਦਯਭ੃ਮ ਸੰਦਖਆ ਾਂ ਹੰੁਦੀਆਂ ਹਨ ? 

    How many rational numbers are there between 3

5
 and  4

5
 ?  

a) 2                   b) 1                    c) ਸੀਭਤ (Finite)          d) 
ਅਨੰਤ(Infinite) 

 5)  ਗੁਣਨਪਰ 1 ਩ਰਾ਩ਤ ਕਯਨ ਰਈ, ਸਾਨੰੂ 8

21
  ਨੰੂ  ______ ਨਾਰ ਗੁਣਾ ਕਯਨਾ ਚਾਹੀਦਾ ਹ੄- 

  To get the product 1, we should multiply 8

21
 by_________. 

    (a) 
8

21
                 (b) −8

21
                         (c) −21

8
                (d) 21

8
 

6) ਹ੃ਠ ਦਦੱਦਤਆਂ ਦ ੱਚੋਂ ਦਕਹੜੀ ਩ਦਯਭ੃ਮ ਸੰਦਖਆ ਦਾ ਉਰਟਕਰਭ  ਨਹੀਂ  ਹ੄? 
   Which of the following rational number has not its reciprocal? 

a) 1   b)  -10           c) 2    d)0 
7)  −3

2
  ਦ ਚ ਦਕਹੜੀ ਸੰਦਖਆ ਜ੅ੜੀ ਜਾ ੃ ਦਕ 0 ਩ਰਾ਩ਤ ਹ੅ ੃? 

     Which number should be added to the number  −3

2
  to get 0. 

a) 1

2
   b)      3

2
 c)      4

3
                 d)5

4
 

8) −3

2
   ਦਾ ਜ੅ੜਾਤਭਕ ਉਰਟ ....... ਹ੄। ……… is additive inverse of   −3

2
   

 a ) 0       b)      3

2
            c)      2

−3
                 d)      1 

9)  ਖਾਰੀ ਥਾਂ ਬਯ੅ : -  
4

5
 × 1 = ...........×- 4

5
   

 Fill in the blanks. 
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a) -1   b) 1     c) - 4

5
      d) 0 

 

10)  ਹ੃ਠਾਂ ਦਰਦਖਅਂ ਦ ੱਚੋਂ ਦਕਹੜਾ ਜ੅ੜ ਦਾ ਕਰਭ  ਟਾਂਦਯਾਂ ਗੁਣ ਹ੄।   
 Which of the following is commutative property of rational numbers under addition. 

a)   m  x  n  = n  x  m    b)  m   +  n  =  n   +   m 
c)    m  -  n =  n -  m   d) m   n    =  n     m 

11)  ਩ਦਯਭ੃ਮ ਸੰਦਖਆ ਾਂ ਦ੃ ਜ੅ੜ ਰਈ ਤਤਸਭਕ ........ ਹ੄।  
 ......... is the identity for addition of rational numbers. 

a) 1  b)  0  c) -1              d)  2 

12) ਩ਦਯਭ੃ਮ ਸੰਦਖਆ ਾਂ ਦ੃ ਗੁਣਾ ਰਈ ਤਤਸਭਕ ........ ਹ੄।  
 ......... is the identity for multiplication of rational numbers. 

a) 1  b)  0  c) -1              d)  2 

 13)  ਹ੃ਠਾਂ ਦਰਦਖਅਂ ਦ ੱਚੋਂ ਦਕਹੜਾ ਜ੅ੜ ਦਾ ਸਦਹਚਾਯਤਾ ਗੁਣ ਹ੄। 
 Which of the following is associative property of rational numbers under addition. 

a)   m  x  n  = n  x  m    b)  m   +  n  =  n   +   m 
c)    m  + ( n + p ) = (m + n) + p  d) m   n    =  n     m 

 
     Linear Equations 

1.  ਹ੃ਠ ਦਦੱਤੀਆਂ ਦ ੱਚੋਂ ਦਕਹੜੀ ਇੱਕ ਚਰ  ਾਰੀ ਯ੃ਖੀ ਸਭੀਕਯਨ ਹ੄?  
    Which of the following is linear equation in one variable? 
    a) 2x+3y=5 b) 7x+4=8   c) 3x2+7=7           d) 3y+5z=6 
2.  ਇੱਕ ਚਰ  ਾਰ੃  ਯ੃ਖੀ ਸਭੀਕਯਨ ਦ ੱਚ ਚਰ ਦੀ ਘਾਤ ਦਕੰਨੀ ਹੰੁਦੀ ਹ੄? 

     What is the power of variable in a linear equation in one variable ? 
    a) 1    b) 0    c) -1    d) 2 
3. ਸਭੀਕਯਨ 2x-3 = x+2 ਦਾ ਹੱਰ ਹ੄ : 
   The solution of equation 2x-3 = x+2 is : 
   a)  1    b) -5   c) -1   d) 5 
4. ਸਭੀਕਯਨ 4y+2 = 6+2y ਦਾ ਹੱਰ ਹ੄ : 
    The solution of equation 4y+2 = 6+2y is : 
   a)  4  b) 2   c) -2   d) -4 
5. .......... ਸੰਦਖਆ 7 ਦ੃ ਦੁਗਣ੃ ਤੋਂ 1  ੱਧ ਹ੄। 
    The number greater than twice of seven by 1 is ……… 
6. ਸਭੀਕਯਨ 𝑥

2
 = 10 ਦਾ ਹੱਰ ਹ੄ : 
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    The solution of equation 𝑥
2
 = 10  is : 

    a)  5  b) -5   c) -20   d) 20 

 7.   ਦ੅ ਸੰਦਖਆ ਾਂ ਦਾ ਜ੅ੜ 95 ਹ੄, ਜ੃ਕਯ ਇੱਕ ਸੰਦਖਆ ਦੂਸਯੀ ਸੰਦਖਆ ਤੋਂ  15  ੱਧ ਹ੄ ਤਾਂ ਸੰਦਖਆ ਾਂ 
ਹ੅ਣਗੀਆਂ। 

     The sum of two numbers is 95. If one exceeds the other by 15, numbers will 
be: 

               (a) 55, 40 (b) 50, 45 (c) 40, 25  (d) 
60, 45 

 8.  hrismrn dI mwqw jI dI aumr(37 swl) , hrismrn dI aumr(mMn lE ‘x’)  dy 
dugxy qoN 7 v`D hY[hyT iliKAw iv`coN ikhVI smIkrn ies kQn nUM drswauNdI hY? 
Harsiman’s mother’s age (37 years)  is 7 more than twice of the Harsiman’s  age ( Suppose 
‘x’) . Which equation represents the given statement? 

       a) 7x+2 = 37 b) 7x-2 = 37 c) 2x+7 = 37  d) 2x-7 = 37 
 

  
Understanding Quadrilaterals 

 
Q1. ਹ੃ਠ ਦਦੱਤ੃ ਩ਰਸਨਾਂ ਦ ੱਚ੅ ਸਹੀ ਦ ਕਰ਩ ਚੁਣ੅ । 
      Choose the correct option from the following questions. 
 

1.ਜ੃ਕਯ ਇੱਕ ਸਭਚਤੁਯਬੁਜ ਦ ੱਚ ਰਾਗ ੇਂ ਕ੅ਣ ਫਯਾਫਯ ਹ੅ਣ ਤਾਂ ਉਹ ਦਕਹੜੀ ਚਤਯਫੁਜ ਫਣਦੀ ਹ੄ ?  

   If the adjacent angles of a quadrilateral are equal, then which quadrilateral is it? 

     (a) ਆਇਤ/Rectangle                                                                  (b)  ਯਗ /Square                

     (c) ਸਭਰੰਫ ਚਤੁਯਬੁਜ  /Rhombus                                              (d) ਸਭਾਂਤਯ ਚਤੁਯਬੁਜ/Parallelogram 

2.ਜ੃ਕਯ ਆਇਤ ਦ੃ ਇੱਕ ਦ ਕਯਨ ਦੀ ਰੰਫਾਈ 6ਸਭ ਹ੄ ਤਾਂ ਦੂਸਯ੃ ਦ ਕਯਨ ਦੀ ਰੰਫਾਈ ਕੀ ਹ੄ ?  

If the length of one diagonal of a rectangle is 6 cm, then what is the length of the other 
diagonal? 

(a) 3cm                          (b) 6 cm                                (c)  12cm              (d)  4 cm 

3. ਸਭਾਂਤਯ ਚਤੁਯਬੁਜ ਦ ੱਚ ਰਾਗ ੇਂ ਕ੅ਣਾਂ ਦਾ ਜ੅ੜ – 

     Sum of adjacent angles in a parallelogram – 

(a) 900                      (b) 1800                     (c) 3600             (d) ਇਹਨਾਂ ਦ ੱਚ੅ ਕ੅ਈ ਨਹੀਂ/None of these. 

4.ਇੱਕ ਸਭਾਂਤਯ ਚਤੁਯਬੁਜ ਦ੃ ਦ੅ ਰਾਗ ੇਂ ਕ੅ਣ ਫਯਾਫਯ ਹਨ। ਹਯ੃ਕ ਕ੅ਣ ਦਾ ਭਾ਩ ਕੀ ਹ੄ ?  

Two adjacent angles of a parallelogram are equal. What is the measure of each angle? 

(a) 900                                                (b) 1800                               (c) 450                             (d) 600 

5.ਜ੃ਕਯ ਸਭਾਂਤਯ ਚਤੁਯਬੁਜ ਦ੃ ਦ੅ ਰਾਗ ੇਂ ਕ੅ਣ 4y ਅਤ੃ 1000  ਹਨ ਤਾਂ  y ਦਾ ਭੱੁਰ ਩ਤਾ ਕਯ੅ । 
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    If two adjacent angles of a parallelogram are 4y and 1000 then find the value of y 

(a) 25                              (b) 20                                  (c) 100                               (d) 10 

6. ਜ੃ਕਯ 3y ਅਤ੃ 1200 ਇੱਕ ਸਭਚਤੁਯਬੁਜ ਦ੃ ਦ੅ ਰਾਗ ੇਂ ਕ੅ਣ ਹਨ ਤਾ y ਦਾ ਭੱੁਰ ਩ਤਾ ਕਯ੅ । 
     If 3y and 1200 are two adjacent angles of a Rhombus , find the value of y. 

(a)  150                           (b) 900                                          (c) 200                           (d) 600 

7. ਜ੃ਕਯ ਸਭਾਂਤਯ ਚਤੁਯਬੁਜ ਦੀਆਂ ਦ੅ ਸਨਭੱੁਖ ਬੁਜਾ ਾਂ 4x ਅਤ੃ 24  ਹਨ ਤਾਂ  x ਦਾ ਭੱੁਰ ਩ਤਾ ਕਯ੅ । 

    If two opposite sides of a parallelogram are 4x and 24, then find the value of x. 

(a) 4                                 (b) 6                                      (c) 24                                (d) 12 

8. ਇੱਕ ਸਭਾਂਤਯ ਚਤੁਯਬੁਜ ਦ ੱਚ ਜ੃ਕਯ ਰਾਗ ੇਂ ਕ੅ਣ ਫਯਾਫਯ ਹ੅ਣ ਤਾਂ ਇਹ ਦਕਹੜੀ ਚਤੁਯਬੁਜ ਫਣਦੀ ਹ੄? 

    In a parallelogram, if the adjacent angles are equal, then which quadrilateral is it? 

   (a) ਆਇਤ / Rectangle                                                (b) ਸਭਚਤੁਯਬੁਜ /Rhombus                     

   (c)  ਯਗ / Square                                                       (d) ਸਭਰੰਫ ਚਤੁਯਬੁਜ /Trapezium 

9. ਜ੃ ਸਭਾਂਤਯ ਚਤੁਯਬੁਜ ਦ੃ ਇੱਕ ਦ ਕਯਨ ਦ੃ ਦ੅ ਫਯਾਫਯ ਬਾਗ 3x-2 ਅਤ੃ 7 ਹਨ ਤਾਂ x ਦਾ ਭੱੁਰ ਕੀ ਹ੄? 

    If two equal parts of a diagonal of a parallelogram are 3x-2 and 7, then what is the value of x? 

(a) 5                                 (b) 4                                        (c) 3                                   (d) 6 

10. ਇਕ ਉਹ ਚਤੁਯਬੁਜ ਦੀ ਩ਦਹਚਾਣ ਕਯ੅ ਦਜਸ ਦ ੱਚ  (i) ਸਾਯ੃ ਕ੅ਣ ਫਯਾਫਯ ਹੰੁਦ੃ ਹਨ। (ii) ਸਨਭੁਖ ਬੁਜਾ ਾਂ 
ਫਯਾਫਯ ਹੰੁਦੀਆਂ ਹਨ। 
Identify a quadrilateral in which (i) all angles are equal. (ii) Opposite sides are equal. 

   (a) ਆਇਤ / Rectangle                                                (b) ਸਭਚਤੁਯਬੁਜ /Rhombus                     

   (c)  ਯਗ / Square                                                       (d) ਸਭਰੰਫ ਚਤੁਯਬੁਜ /Trapezium 

Q2. ਖਾਰੀ ਸਥਾਨ ਬਯ੅। Fill in the blanks 

1.  ਯਗ ਦ ੱਚ ਦ ਕਯਨ ਇੱਕ ਦੂਜ੃ ਨੰੂ……………… ਤ੃ ਸਭਦੁਬਾਦਜਤ  ਕਯਦ੃ ਹਨ । 
          The diagonals in a square bisect each other at ………………. 

2. ਆਇਤ ਦਾ ਹਯ੃ਕ ਕ੅ਣ………………..ਹੰੁਦਾ ਹ੄। 
Each angle of a rectangle is……………….. 

3. .………………….. ,ਉਹ ਚਤੁਯਬੁਜ ਹ੄ ਦਜਸ ਦੀਆਂ ਸਨਭੱੁਖ ਬੁਜਾ ਾਂ ਦ੃ ਦ੅ ੇਂ ਜ੅ੜ੃ ਜਾਂ ਤਾਂ ਸਭਾਨਤਯ 
ਹ੅ਣ ਜਾਂ ਫਯਾਫਯ। 

        .………………….., is a quadrilateral whose two pairs of opposite sides are either parallel or 

equal. 

4. ਇੱਕ ਚਤੁਯਬੁਜ ਦਜਸ ਦ ੱਚ ਸਨਭੁਖ  ਬੁਜਾ ਾਂ ਦਾ ਇੱਕ ਜ੅ੜਾ ਸਭਾਂਤਯ ਹੰੁਦਾ ਹ੄……………………….. 

ਅਖ ਾਉਂਦਾ ਹ੄। 
          A quadrilateral in which a pair of opposite sides are parallel is called …………………….. 

5. ਸਭਚਤੁਯਬੁਜ ਦ੃ ਦ ਕਯਨ ਇੱਕ ਦੂਜ੃ ਨੰੂ………………………’ਤ੃ ਸਭਦੁਬਾਦਜਤ ਕਯਦ੃ ਹਨ। 
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The diagonals of a Rhombus bisect each other at ……………………. 

      6.ਇੱਕ ਆਇਤ ਦਜਸ ਦੀਆਂ ਸਾਯੀਆਂ ਬੁਜਾ ਾਂ ਫਯਾਫਯ ਹ੅ਣ, ਉਸ ਨੰੂ………………… ਕਦਹੰਦ੃ ਹਨ। 
          A rectangle having all its sides equal is called a…………………. 

     7. ਯਗ ਦ੃ ਦ ਕਯਨ…………………… ਰੰਫਾਈ ਦ੃ ਹੰੁਦ੃ ਹਨ। 
        The diagonals of the square are …………………… in length. 

     8.ਜ੃ਕਯ ਆਇਤ ਦ੃ ਇੱਕ ਦ ਕਯਣ ਦੀ ਰੰਫਾਈ 6 ਸਭ ਹ੄ ਤਾਂ ਆਇਤ ਦ੃ ਦੂਜ੃ ਦ ਕਯਨ ਦੀ 
ਰੰਫਾਈ……………………. ਹ੅ ੃ਗੀ। 

 If the length of one diagonal of a rectangle is equal to 6 then the length of the other 
diagonal of the rectangle will be …………………….  

       9.ਚਤੁਯਬੁਜ DEFG ਦ੃ ਦ ਕਯਨ……………. ਅਤ੃………………….. ਹਨ। 
          Diagonals of Quadrilateral DEFG are ....................... and................... 

      10. .……………….ਅਤ੃…………………ਦ੃ ਦ ਕਯਨ ਸਭਾਨ ਹੰੁਦ੃ ਹਨ । 
           Diagonals of .......................... and ............................... are equal. 
 

Q3. ਦਦੱਤ੃ ਩ਰਸ਼ਨਾਂ ਰਈ ਸਹੀ ਅਤ੃ ਗਰਤ ਕਥਨਾਂ ਦੀ ਚ੅ਣ ਕਯ੅।  
     Choose the true and false statements for the given questions. 

1.ਸਭਾਂਤਯ  ਚਤੁਯਬੁਜ ਦ੃ ਦ ਕਯਨ ਫਯਾਫਯ ਹੰੁਦ੃ ਹਨ।                                                               (ਸਹੀ / ਗਰਤ ) 

    Parallelograms have equal diagonals.                                                                             (True / False ) 

2. ਆਇਤ ਦ੃ ਦ ਕਯਨ ਫਯਾਫਯ ਨਹੀਂ ਹੰੁਦ੃ ਹਨ।                                                                        (ਸਹੀ / ਗਰਤ ) 

    The diagonals of a rectangle are not equal.     (True / False )       

3. ਯਗ ਦੀਆਂ ਬੁਜਾ ਾਂ ਫਯਾਫਯ ਰੰਫਾਈ ਦੀਆਂ ਹੰੁਦੀਆਂ ਹਨ।                                                     (ਸਹੀ / ਗਰਤ ) 

   The sides of a square are of equal length.                    (True / False )        

4. ਆਇਤ ਦ੃ ਸਾਯ੃ ਕ੅ਣ ਸਭਾਨ ਹੰੁਦ੃ ਹਨ।                                                                                    (ਸਹੀ / ਗਰਤ ) 

     All angles of a rectangle are equal.       (True / False )        

5.ਸਭਚਤੁਯਬੁਜ ਦੀਆਂ ਚਾਯ੃ ਬੁਜਾ ਾਂ ਫਯਾਫਯ ਹੰੁਦੀਆਂ ਹਨ।                                                       (ਸਹੀ / ਗਰਤ ) 

   All four sides of a rhombus are equal.       (True / False )        

6.ਸਭਾਂਤਯ ਚਤੁਯਬੁਜ ਦੀਆਂ ਸਨਭੱੁਖ ਬੁਜਾ ਾਂ ਸਭਾਂਤਯ ਹੰੁਦੀਆਂ ਹਨ।                                           (ਸਹੀ / ਗਰਤ ) 

    Opposite sides of a parallelogram are parallel.     (True / False )        

7. ਇੱਕ ਸਭਚਤੁਯਬੁਜ ਦ ੱਚ ਸਨਭੱੁਖ ਬੁਜਾ ਾਂ ਦ੃ ਜ੅ੜ੃ ਸਭਾਂਤਯ ਹੰੁਦ੃ ਹਨ।                                    (ਸਹੀ / ਗਰਤ ) 

    In a rhombus, pairs of opposite sides are parallel.      (True / False )        

8. ਇੱਕ ਸਭਚਤੁਯਬੁਜ ਦ ੱਚ ਦ ਕਯਣ ਇੱਕ ਦੂਜ੃ ਨੰੂ ਸਭਦੁਬਾਦਜਤ ਕਯਦ੃ ਹਨ।                               (ਸਹੀ / ਗਰਤ ) 

     Diagonals bisect each other in a rhombus.     (True / False )        

9. ਇੱਕ ਸਭਚਤੁਯਬੁਜ ਦ ੱਚ ਰਾਗ ੇਂ ਕ੅ਣਾਂ ਦਾ ਜ੅ੜ 1800 ਹੰੁਦਾ ਹ੄।                                              (ਸਹੀ / ਗਰਤ ) 

     The sum of adjacent angles in a rhombus is 1800 .    (True / False )        

10. ਸਭਚਤੁਯਬੁਜ ਇਕ ਚਤੁਯਬੁਜ ਹ੄ ਦਜਸ ਦੀਆਂ ਸਾਯੀਆਂ ਬੁਜਾ ਾਂ ਦੀ ਰੰਫਾਈ ਸਭਾਨ ਹੰੁਦੀ ਹ੄।   (ਸਹੀ / ਗਰਤ ) 

       Rhombus is a quadrilateral with all sides of equal length.   (True / False )        
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Data Handling 

Q1. ਹ੃ਠ ਦਦੱਤ੃ ਩ਰਸਨਾਂ ਦ ੱਚ੅ ਸਹੀ ਦ ਕਰ਩ ਚੁਣ੅ । 
      Choose the correct option from the following questions. 

1.  ਯਗ-ਅੰਤਯਾਰ 150-175 ਦਾ  ਯਗ ਅਕਾਯ ਹ੄- / Size of the class 150 –175 is 

      (a) 150                              (b) 175                         (c) 25                         (d) –25 

2.  ਚੱਕਯ ਦੀ  ਯਤੋਂ ਕਯਕ੃ ਩੃ਸ਼ ਕੀਤ੃ ਗਏ ਅੰਕੜ੃ ਨੰੂ ਦਕਹਾ ਜਾਂਦਾ ਹ੄- /Data represented using circles is 

known as 

      (a)ਛੜ ਗਯਾਪ/Bar graph                                              (b) ਆਇਤ ਦਚੱਤਯ /Histogram   
      (c) ਦਚੱਤਯ ਗਯਾਪ/Pictograph                                         (d) ਩ਾਈ ਚਾਯਟ/Pie chart 

3. ਦਭਰਾਨ ਦਚੰਨਹ  ਦੀ  ਯਤ੅ ਦਕਸ ਰਈ ਹੰੁਦੀ ਹ੄ ? Tally marks are used to find 

    (a) ਯਗ -ਅੰਤਯਾਰ /Class intervals                                  (b) ਦ ਚਰਨ ਸੀਭਾ/ Range  
    (c) ਫਾਯੰਫਾਯਤਾ /Frequency                                           (d) ਉ਩ਯਰੀ ਸੀਭਾ /Upper limit. 
4. ਇੱਕ ਦਸੱਕਾ ਦ੅  ਾਯ ਉਛਾਦਰਆ ਜਾਂਦਾ ਹ੄। ਸੰਬਾਦ ਤ ਨਤੀਦਜਆਂ ਦੀ ਦਗਣਤੀ ਹ੄ –  
   A coin is tossed two times. The number of possible outcomes is 
   (a) 1                       (b) 2                         (c) 3                          (d) 4 

5. ਩ਾਈ ਚਾਯਟ ਦ ੱਚ, ਚੱਕਯ ਦ੃ ਕੇਂਦਯੀ ਕ੅ਣ ਦਾ ਕੱੁਰ ਜ੅ੜ ਹੰੁਦਾ ਹ੄- 
  In a pie chart, the total angle at the centre of the circle is 
   (a) 180°                  (b) 360°                     (c) 270°                     (d) 90° 
 

Q2.ਖਾਰੀ ਸਥਾਨ ਬਯ੅ । Fill in the blanks 

1. ਦਸੱਕਾ ਉਛਾਰਣ ਤ੃ ਦਚੱਤ ਩ਰਾ਩ਤ ਹ੅ਣ ਦੀ ਸੰਬਾ ਨਾ…………….. ਹੰੁਦੀ ਹ੄। 
The probability of getting a Head on tossing a coin is…………….. 

2. ਩ਾਈ ਚਾਯਟ ਦ ੱਚ ਸਾਯ੃ ਕੇਂਦਯੀ ਕ੅ਣਾਂ ਦਾ ਜ੅ੜ………………ਹੰੁਦਾ ਹ੄। 
Sum of all central angles in a pie chart is ………………. 

3. ਇੱਕ ਥ੄ਰ੃  ਦ ੱਚ 5 ਰਾਰ ਗੇਂਦਾਂ ਅਤ੃ 3 ਨੀਰੀਆਂ ਗੇਂਦਾ ਹਨ। ਜ੃ਕਯ ਥ੄ਰ੃  ਦ ੱਚੋਂ ਦਫਨਾਂ  ੃ਦਖਆ ਇਕ ਗੇਂਦ 
ਫਾਹਯ ਕੱਢੀ ਜਾ ੃ ਤਾਂ ਰਾਰ ਗੇਂਦ ਦੀ ਸੰਬਾ ਨਾ……………..ਹ੅ ੃ਗੀ। 
A bag contains 5 red balls and 3 blue balls. If one ball is drawn from the bag without 

looking, the probability of red ball will be………….. 

4. ਇੱਕ ਦਸੱਕਾ ਉਛਾਰਣ ਤ੃ ਩ੱਟ ਩ਰਾ਩ਤ ਹ੅ਣ ਦੀ ਸੰਬਾ ਨਾ…………………ਹੰੁਦੀ ਹ੄। 
The probability of getting a tail when tossing a coin is…………………. 

5. ਜ੃ਕਯ ਇੱਕ ਸਕੂਰ ਦ੃ 60 % ਦ ਦਦਆਯਥੀ ਩ੰਜਾਫੀ ਫ੅ਰਦ੃ ਹਨ ਤਾਂ ਩ੰਜਾਫੀ ਫ੅ਰਦ੃ ਦ ਦਦਆਯਥੀਆਂ ਨੰੂ 
ਦਯਸਾਉਂਦ੃ ਅਯਧ ਦ ਆਸੀ ਖੰਡ ਦਾ ਕ੅ਣ…………….ਹ੅ ੃ਗਾ। 
If 60% of the students in a school speak Punjabi, then the angle of the  sector representing 

the Punjabi speaking students will be …………. 

6. ਇੱਕ ਦਸੱਕ੃ ਨੰੂ ਉਛਾਰਣ ਤ੃ ਕੁਰ ਸੰਬ  ਩ਦਯਣਾਭਾ ਦੀ ਸੰਦਖਆ………………. ਹੰੁਦੀ ਹ੄। 
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The total number of possible outcomes of tossing a coin is……………….  

7. ਇੱਕ ਸੰਤੁਦਰਤ ਩ਾਸ੃ ਨੰੂ ਉਛਾਰਣ ਤ੃ 6 ਸੰਬ  ਩ਦਯਣਾਭ ………………………….ਹਨ। 
The 6 possible outcomes of tossing a dice are …………………………. 

8.  ਯਗ ਅੰਤਯਾਰ ਦੀ ਉੱ਩ਯਰੀ ਸੀਭਾ ਅਤ੃ ਹ੃ਠਰੀ ਸੀਭਾ ਦ੃ ਅੰਤਯ ਨੰੂ………………….ਦਕਹਾ ਜਾਂਦਾ ਹ੄। 
The difference between the upper limit and the lower limit of a class interval is 

called…………………. 

9.  ਯਗ ਅੰਤਯਾਰ ਦ੃ ਭੱਧ  ਦਫੰਦੂ ਨੰੂ…………………..ਦਕਹਾ ਜਾਂਦਾ ਹ੄। 
The mid-point of a class interval is called………………….. 

 

 Q3. ਦਦੱਤ੃ ਩ਰਸ਼ਨਾਂ ਦ ੱਚੋਂ ਸਹੀ ਅਤ੃ ਗਰਤ ਕਥਨਾਂ ਦੀ ਚ੅ਣ ਕਯ੅ । 

      Choose the true and false statements from the given questions 
  

1. ਇੱਕ ਥ੄ਰਾ ਦਜਸ ਦ ੱਚ 10 ਨੀਰੀਆਂ ਗੇਂਦਾ ਹਨ ਦ ੱਚੋਂ ਇਕ ਰਾਰ ਗੇਂਦ ਦਭਰਣ ਦੀ ਸੰਬਾ ਨਾ 3

10
 ਹ੄। 

The probability of getting one red ball from a bag containing 10 blue balls is 
3

10
 

2. ਇੱਕ ਩ਾਸ੃ ਨੰੂ ਸੱੁਟਣ ਤ੃ ਦਜਸਤ ਸੰਦਖਆ ਆਉਣ ਦੀ ਸੰਬਾ ਨਾ 1

2
  ਹ੄। 

The probability of getting an even  number when tossing a dice is 
1

2
 . 

3.  ਯਗ ਅੰਤਯਾਰ  25-35 ਦੀ ਹ੃ਠਰੀ ਸੀਭਾ 35 ਹ੄। 
The lower limit of the class interval 25-35 is 35. 

4. ਅੰਗਯ੃ਜੀ ਦੀ  ਯਨਭਾਰਾ ਦ ੱਚ ਇੱਕ ਸ ਯ ਚੁਣ੃ ਜਾਣ ਦੀ ਸੰਬਾ ਨਾ 5

25
  ਹ੄। 

The probability of selecting a vowel in the English alphabet is 
5

25
 

5.  ਯਗ ਅੰਤਯਾਰ 20-30 ਦਾ  ਯਗ ਦਚੰਨਹ  10 ਹ੄। 
The class mark of the class interval 20-30 is 10. 

6. ਇੱਕ ਦਸੱਕ੃ ਨੰੂ ਉਛਾਰਣ ਤ੃ ਦਚੱਤ ਆਉਣ ਦੀ ਸੰਬਾ ਨਾ 1

2
  ਹ੄ । 

The probability of getting a tail when tossing a coin is 
1

2
 

7.  ਯਗ ਅੰਤਯਾਰ 40-60 ਦਾ  ਯਗ ਆਕਾਯ 20 ਹ੄। 
Class Size of the Class interval 40-60 is 20. 

8. ਫਾਯੰਫਾਯਤਾ  ਸਾਨੰੂ ਦਦੱਤ੃ ਅੰਕਦੜਆਂ ਦ ੱਚ  ਾਯ  ਾਯ ਆਈ ਸੰਦਖਆ ਨੰੂ ਦਯਸਾਉਂਦਾ ਹ੄।  
Frequency refers to the number of times that occur in the given data. 

9. ਦਭਰਾਨ ਦਚੰਨਹ  ਫਾਯੰਫਾਯਤਾ ਩ਤਾ ਕਯਨ ਰਈ  ਯਤ੃ ਜਾਂਦ੃ ਹਨ। 
Tally Marks are used to find frequencies. 

10. ਩ਾਈ ਚਾਟ ਦ ੱਚ ਅਯਧ ਦ ਆਸੀ ਖੰਡਾਂ ਦ੃ ਕੇਂਦਯੀ ਕ੅ਣ ਦਾ ਭਾ਩ 180
0 ਤੋਂ  ੱਧ ਨਹੀਂ ਹ੅ ਸਕਦਾ।  

The measure of the central angle of the Sector in a pie chart cannot exceed 1800. 
 

 

Square and Square Root                               
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1.  200 dy vrg iv`c isPrW dI igxqI d`so[ Number of zeroes in square of 200: 
i) 2                          ii)  4                                  iii) 5                               iv) 6 

2. 1687 dy vrg dw iekweI AMk : The digit at one’s place of square of 1687 is: 
  i)  6                          ii)  7                                  iii) 8                              iv) 9 

3. 49 nUM tWk sMiKAwvW dy joV dy rUp iv`c hyT ilKy Anuswr ikhVw hY : Which of the following 

represents  49 as   sum of odd numbers: 
  i)  1+3+5               ii)  1+3+5+7           iii) 1+3+5+7+9+11                  iv) 1+3+5+7+9+11+13 

4. 348 dy vrg ivc̀ iekweI dw AMk kI hovygw? What is the digit at one’s place of square of 348? 
i)  2                          ii)  3                                 iii) 4                              iv) 5 

5. 1+3+5+7+9+11+13+15= 
i)  64                          ii)  81                                  iii) 100                              iv) 49 

6. 112 Aqy 122 ivckwr ikMnIAW pRwikRiqk sMiKAwvW hn? How many natural numbers are there 

between 112 and 122? 
i)  16                          ii)  17                                  iii) 20                              iv) 22 

7. 232 nUM do lgwqwr sMiKAwvW dy joV dy rUp iv`c ilKx dw shI qrIkw hY: The correct way of writing 

232 as sum of consecutive numbers:  
i)  264+265                          ii)  203+204                           iii) 180+181                         iv) 199+200 

8. ibnW gxnw kIqy 212 – 202 dw AMqr hovygw: Without actual calculations, find difference of 212 – 
202: 

i)  40                          ii)  41                                  iii) 42                              iv) 43 
9. 212 nUM hyTW id`qIAW iqMn sMiKAwvW dy vrgW dy rUp ivc̀ ilKx dw shI qrIkw hY: The correct way of 

writing 212 as sum of three numbers:  
i)  212 = 42+52 + 202        ii)  212 = 42+62 + 222      iii) 212 = 52+62 + 192     iv) 212 = 52+62 + 
202                          

10. -11 dw vrg pqw ਕਯ੅: The square of -11 is: 

       i)  121                          ii)  22                                  iii) -121                              iv) -22 

11. tWk sMiKAw dw vrg hmySw ………………… huMdw hY[ The square of an odd number is always 

………..  
i)  ijsq(even)       ii)  tWk (odd)     iii) tWk jW  ijsq(both )   iv) iehnW ‘coN koeI nhIN 
(None) 

12. ie`k auicq iBMn dw vrg=……………. The square of a proper  fraction is ………. 
 i)  iBMn qoN Cotw (smaller than the fraction)           ii)  iBMn qoN v`fw (greater  than the fraction)       

  iii) iBMn qoN brwbr (equal to fraction)                 iv) iehnW ‘coN koeI nhIN (none of these)            

 

 
13. shI jW glq:( True/False) 

i)  431 dw vrg tWk sMiKAw hY[The square of 431 is odd. (shI/glq) ( True/False) 

ii)  tWk sMiKAw dw vrg hmySw tWk sMiKAw huMdw hY[The square of an odd number is always odd 
(shI/glq) ( True/False) 

iii)  4012 dy vrg dw iekweI dw AMk ijsq hovygw[The digit at one’s place of square of 4012 will 

be an even number. (shI/glq) ( True/False) 

iv) ie`k irਣਾqmk sMiKAw dw vrg irxwqmk huMdw hY[The square of a negative integer is always a 

negative integer. (shI/glq) ( True/False) 

v) 27 pUrn vrg sMiKAw hY[27 is a perfect square. (shI/glq) ( True/False) 
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Cube and Cube root & Direct and Indirect Proportion 

 

1. Solve it   62 + 82 
1

2  
3

 h~l kro   62 + 82 
1

2  
3

 

(a) 1000  (b) 100   (c) 2744  (d) 10 
 

2. The one’s digit of cube of 27 is ________ 

27 dy Gx dw iekweI AMk kI hovygw? 

(a) 3   (b) 9    (c) 4   (d) 5 
 

3. If m is cube root of n, then value of n is ________ 

jykr m GxmUl hovy n dw, qW n dw mu~l kI hovygw? 

(a) m3   (b)  m   (c)
m

3
   (d)  m

3
 

 

4. If x and y vary inversely as each other, x=10 when y=6. Find y when x=15. 

jykr x Aqy y ie~k dUjy dy ault hox, x=10 jykr y=6, y pqw kro jykr x=15 hovy[ 

(a) 3   (b) 4    (c) 5   (d) 6 
 

5. 55 cows can graze in field in 16 days. How many cows will graze the same field in 10    

days? 

55 gwvW ie~k mYdwn nMU 16 idnW iv~c crdIAW hn[ikMnIAW gwvW iesy mYdwn nMU 10 idnW 
iv~c crxgIAW? 

(a) 55 cows  (b) 80 cows  (c) 88 cows  (d) 50 cows 
 

6. If speed remains same then relation between distance and time is an example of:  

jykr gqI smwn rhy qW dUrI Aqy smyN iv`c ikhVw Anupwq hovygw? 

(a) Direct proportion/ is`Dw Anupwq  (b) Indirect proportion/ ault Anupwq  

(c) a and b both/  a Aqy b dovyN   (d) None of these/ iehnW iv`coN koeI nhI 
 

7. If 52 men can do a piece of work in 35 days, then in how many days 28 men will do it? 

jykr 52 AwdmI ie~k kMm nMU 35 idnW iv~c pUrw krdy hn qW 28 AwdmI iesy kMm nMU ikMny 
idnW iv~c pUrw krngy? 

(a) 60 days  (b) 64 days  (c) 65 days  (d) 61 days 
 

8. Which of the following is not a perfect cube?  iehnW iv~coN ikhVw pUrn Gx nhI hY? 
(a) 64   (b) 216   (c) 243   (d) 1728 

 

9.  
343

729

3
 = ? 

            (a) 
7

9
   (b) 

−7

9
   (c) 

−9

7
   (d) 

9

7
 

 

10. Find value of: 4×  1000
3

  h~l kro: 4×  1000
3

 

            (a) 40   (b) 10   (c) 5   (d) 6 
 

11. Evaluate 6
3
– 5

3
 = __________ h~l kro 63

– 5
3
 = __________ 

            (a) 91   (b) 191   (c) 100   (d) 1 
 

12. What will be unit digit of 1729
3 17293 dw iekweI AMk kI hovygw? 

            (a) 1   (b) 9   (c) 7   (d) 3 
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13. If x and y are directly proportional, then which is true? 

        jykr x Aqy y is~Dy Anupwq iv~c hox qW ikhVw kQn s~c hovygw? 

           (a) x+y = k (b) x–y = k  (c) xy = k (d) 
x

y
 = k ;where k is constant term 

 

14. Find the volume of cube, whose one side is 5 cm? 

        5 sm Bujw vwly Gx dw GxPl kI hovygw? 

           (a) 15 cm  (b) 125 cm
3
  (c) 45cm

3
  (d) 50 cm 

 

15. (0.8)
3
 =? 

           (a) 51.2  (b) 5.12  (c) 0.512  (d) None of these 
 

16. If 14 kg pulses cost Rs 882, then what is the cost of 22 kg of pulses? 

       jykr 14 iklogRwm dwl dw  mu~l 880 ru: hovy qW 22 iklogRwm dwl dw mu~l ikMnW hovygw? 

           (a) Rs 1254  (b) Rs 1298  (c) Rs 1342  (d) Rs 1386 
 

17. Which of the following is cube of an odd number? 

       hyT ilKIAW iv~coN ikhVw tWk sMiKAw dw Gx hovygw? 

           (a) 216   (b) 512   (c) 343   (d) 1000 
 

18. If both x and y are in direct proportion then 
1

x
 and 

1

y
 are in 

jykr x Aqy y is~Dy Anupwq iv~c hox qW 1

x
 Aqy 1

y
 hoxgy[ 

(a) Direct proportion/is~Dy Anupwq  (b) Inverse proportion/ aul~t Anupwq  

(c) Neither ‘a’ and ‘b’ / nW qW ‘a’ Aqy nW ‘b’ 
(d) sometime direct and sometimes inverse proportion/ kdy is~Dw Aqy kdy Ais~Dw Anupwq 

 

19. If 2x=y, then x and y are in _________ proportion to each other. 

       jykr 2x=y hovy qW x Aqy y doxo _______ Anupwq iv~c hoxgy[ 
 

20. Cube of a negative number is also __________ number. 

       irxwqmk sMiKAw dw Gx ________ huMdw hY[ 
 

21. Sides of rhombus and its perimeter are in __________ proportion. 

       smcqurBu~j dIAW BujwvW Aqy pirmwp ________ Anupwq dI audwhrn hY[ 
 

22. The cube of one digit number cannot be a two digit number.   (True / False) 

       ie~k AMk vwlI sMiKAw dw Gx do AMkw vwlI sMiKAw nhI huMdw[   (shI / glq) 
 

23. The cube of 0.4 is 0.064.        (True / False) 

       0.4 dw Gx 0.064 hovygw[        (shI / glq) 
 

24. The cube root of 8000 is 200.       (True / False) 

8000 ਦਾ GxmUl 200 hMudw hY[       (shI / glq) 

 

25.  If 5 persons can finish a job in 10 days, then one person will finish it in 2 days.  

(True / False) 

jykr 5 AwdmI kMm nMU 10 idnW iv~c pUrw krdy hn qW 1 AwdmI iesy kMm nMU 2 idnW  
iv~c pUrw krygw[         (shI / glq) 

 

26.  If cost of 10 pencils is Rs. 90, then the cost of 19 pencils is Rs 171.  (True / False) 

dell
Typewriter
Page 11



       jykr 10 pYNislW dw  mu~l 90 ru: hovy qW 19 pYNislW dw mu~l 171 ru: hovygw?  (shI / glq) 
27.      64 + 125

3
=   64

3
+   125

3
       (True / False) 

 

Comparing Quantities 
 

1) 3L4 dk gqshPs  Percentage of 3:4 

a)  75%        b)   50%     c)   25%      d)   100% 
2) fe;/ ;e{b ftZu 800 ftfdnkoEhnK ftZu'A 500 e[VhnK jB ns/ pkeh w[zv/ jB. w[zv/ ns/ e[VhnK dk 
nB[gks   eh j?<  
In a school out of 800 students there are 500 girls and remaining are boys. Find the ratio of 
number of boys to girls. 
a)  8:5         b)   3:5        c)   5:3       d)   5:8 
3)  4 p?ArD 3H5 o[gJ/ ftZu yohd/ rJ/ ns/ 4 o[gJ/ ftZu t/u/ rJ/. fJ; ;"d/ ftZu bkG iK jkBh fezBk 
j't/rk< 
4 brinjals are bought for Rs. 3.5 and sold for Rs. 4. Find the profit or loss in this. 

a)  0.5 o[gJ/ bkG (profit)       b)     0.5 o[gJ/ jkBh  (loss)   c)   1.5 o[gJ/ bkG  (profit)    d)   1.5 o[gJ/ 
jkBh (loss) 

4) 2000 o[gJ/ s/ 6# ;kbkBk do Bkb 2 ;kb dk ;kXkoB ftnki eh j't/rk< 
  The simple Interest on Rs. 2000 at 6% per annum for two years is : 
a)  200 o[gJ/ Rs.        b)   240 o[gJ/ Rs.     c)   300 o[gJ/ Rs.     d)  340 o[gJ/ Rs. 

5) j/m fby/ ftZu'A fe; s/ bkG# iK jkBh# dh rDBk ehsh iKdh j?. 
  On which of the following profit percent or loss percent is calculated? 
a)   t/u w[Zb  (Sale price)                        b)  yohd w[Zb (Cost price)        
c)  nzfes w[Zb (Market price)                   d)  fJjBK ftZu'A e'Jh Bjh (none of these) 

6)  HHHHHHHHHHHHHHHHH dh rDBk jw/Pk nzfes w[Zb s/ ehsh iKdh j?. 
    HHHHHHHHHHHHHHHHHHHHH is always calculated on the marked price. 

7) yohd w[Zb + bkG = HHHHHHHHHHHHHHHH 
   Cost price + profit = .................... 
8) Gkr d[nkok ehsh rJh d' okPhnK dh s[bBk B{z HHHHHHHHHHHHHHHHHHHH fejk iKdk j?. 
   Comparing two quantities by divison is called ............................. 

9) ;XkoB ftnki Simple interest =
𝑃×……..×………..

100
  

10) 75% =
….

4
 

 11) 6 km dk 600m nB[gks 1L100 jz[dk j?                     (;jh$rbs) 
Ratio of 6 km to 600 m is 1:100      (True/False) 
12) fJZe fGzB B{z gqshPs ns/ gqshPs B{z fGzB ftZu pdfbnk ik ;edk j?.   (;jh$rbs) 
    Fraction can be converted into percentage and vice versa.    (True/False) 
13) ATM dk noE nkN'w/fNv N?bo wPhB j?.                  (;jh$rbs) 
   Meaning of ATM is Automated Teller Machine    (True/False) 
14) 25# dk dPwbt fBo{gD 2H5 j?.                   (;jh$rbs) 
    25% can be written as 2.5 in decimals.     (True/False) 
15) ihH n?;H NhH dk noE t;s{ ns/ ;/tk eo j?.            (;jh$rbs) 
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    GST means Goods and Services Act                           (True/False) 
 

Algebraic Identites and Mensuration 
 

Fill in the blanks (ਖਾਲੀ ਥਾਵਾਂ ਭਰੋ) 
1. The formula  to calculate the perimeter of a square is………. 

     ਵਰਗ ਦਾ ਪਰਰਮਾਪ ਪਤਾ ਕਰਨ ਦਾ ਸੂਤਰ…….. ਹ੄। 
 

2. The formula to calculate the area of a circle is….........  

    ਚੱਕਰ ਦਾ ਖ੃ਤਰਫਲ ਪਤਾ ਕਰਨ ਦਾ ਸੂਤਰ……… ਹ੄।  
 

3. 1ml =  …………..cm³ 
 

4. If the side of a cube is doubled the volume of the cube will become  ……………. 
times.  

    ਜ੃ਕਰ ਘਣ ਦੀ ਭੁਜਾ ਦੁਗਣੀ ਕਰ ਰਦੱਤੀ ਜਾਵ੃ ਤਾਾਂ ਘਣ ਦਾ ਆਇਤਨ ………..  ਗੁਣਾ ਹ੅ ਜਾਵ੃ਗਾ। 
 

5. The total surface area of a cube having a side of length 3 cm is  …… cm² . 

    3 ਸਮ ਭੁਜਾ ਵਾਲ੃  ਘਣ ਦੀ ਕੱੁਲ ਸਤਹ ਾ ਦਾ ਖ੃ਤਰਫਲ….    ਹ੅ਵ੃ਗਾ। 
 

6. Complete the identity.    ਤਤਸਭਕ ਩ੂਯਾ ਕਯ੅:   (a+b)² = a²+........+b² 
 

7. 98 × 102 = (..... -2)(....+2) 
 

Choose the correct option:   ਸਹੀ ਦ ਕਰ਩ ਚੁਣ੅: 
 

8. Perimeter of a rectangle is:   ਆਇਤ ਦਾ ਩ਦਯਭਾ਩ ਹ੄: 
(a) 4 × side(ਬੁਜਾ)        (b) side×side(ਬੁਜਾ × ਬੁਜਾ)      (c) 2( l+b)         (d) l×b 
 

9. What is the shape of the base of a cuboid?   ਘਣਾ  ਦ੃ ਆਧਾਯ ਦਾ ਆਕਾਯ ਕੀ ਹੰੁਦਾ ਹ੄? 

(a) square( ਯਗ)          (b) rectangle(ਆਇਤ)     (c) triangle(ਦਤਰਬੁਜ)         (d) circle(ਚੱਕਯ) 
  

10. Curved surface area of a cylinder is:     ੃ਰਣ ਦੀ  ਕਯ ਸਤਹਾ ਦਾ ਖ੃ਤਯਪਰ: 
(a) πr²                      (b) 2πrh            (c) 2πr                         (d) πr²h 
  

11. Area of a trapezium whose parallel sides are a,b and the distance between them is 
h: 

ਇਕ ਸਭ ਰੰਫ ਚਤੁਯਬੁਜ ਦਾ ਖ੃ਤਯਪਰ ਕੀ ਹ੅ ੃ਗਾ ਦਜਸ ਦੀਆਂ ਸਭਾਂਤਯ ਬੁਜਾ ਾਂ ਦੀ ਰੰਫਾਈ a,b ਹ੄ ਅਤ੃ ਉਹਨਾਂ ਦ੃ 
ਦ ਚਕਾਯਰੀ ਦੂਯੀ h ਹ੄।  
(a) 

1

2
×a×b×h          (b) 

1

2
 (a+b)h       (c) a×b×h          (d) none of these(ਇਹਨਾਂ ਦ ੱਚੋਂ ਕ੅ਈ ਨਹੀਂ) 

 

12. Expression 4x²y is a:      ਦ ਅੰਜਕ 4x²y ............ਹ੄: 
(a) Monomial(ਇੱਕ ਩ਦੀ)          (b) binomial(ਦ੅ ਩ਦੀ)       
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(c) trinomial (ਦਤੰਨ ਩ਦੀ)          (d) none of these(ਇਹਨਾਂ ਦ ੱਚੋਂ ਕ੅ਈ ਨਹੀਂ) 
 

13. The product of the expressions 3xy² and -5xy² is  

ਦ ਅੰਜਕਾਂ 3xy² ਅਤ੃  -5xy² ਦਾ ਗੁਣਨਪਰ  
(a) 15xy                 (b) -15x²y4     (c) -15x³y³              (d) 15x³y³  
 

14. If (p+ q) and (p- q) are the sides of a rectangle then the area of the rectangle is 

ਜ੃ਕਯ (p+ q) ਅਤ੃ (p- q) ਇੱਕ ਆਇਤ ਦੀਆਂ ਬੁਜਾ ਾਂ ਹਨ ਤਾਂ ਆਇਤ ਦਾ ਖ੃ਤਯਪਰ ਕੀ ਹ੅ ੃ਗਾ? 

(a) (p+q)²               (b) (p-q)²      (c) p²-q²                  (d) 2p-2q 
 

15. The sum of the expressions 3x - 2y and 4x + 2y is: 

ਦ ਅੰਜਕਾਂ 3x - 2y ਅਤ੃ 4x + 2y ਦਾ ਜ੅ੜਪਰ ਹ੄: 
(a) 7x-4y                (b) x+4y     (c) 7x                      (d) -x+y 
 

16. In  expression 7x - 3y the coefficient of y is 3 .    (True/false) 

ਦ ਅੰਜਕ 7x - 3y ਦ ੱਚ y ਦਾ ਗੁਣਾਂਕ 3 ਹ੄।     (ਸਹੀ/ ਗਰਤ) 
 

17. Every square is a rhombus.       (True/ false) 

ਹਯ੃ਕ  ਯਗ ਇੱਕ ਸਭਚਤੁਯਬੁਜ ਹੰੁਦਾ ਹ੄।       (ਸਹੀ /ਗਰਤ) 
 

18. The product of a monomial and a binomial is a binomial.   (True/ false) 

 ਇੱਕ ਩ਦੀ ਅਤ੃ ਦ੅ ਩ਦੀ ਦਾ ਗੁਣਨਪਰ ਦ੅ ਩ਦੀ ਹੰੁਦਾ ਹ੄।     (ਸਹੀ/ ਗਰਤ) 
 

19. 3xy × 0 = 3xy         (True /false ) 
 

 

 Powers and Exponents  
 

1. am × an is equal to    

am
 × an  brwbr hovygw  

(a) am+n  (b) am-n  (c) am n  (d) None of these (iehnW iv~coN koeI nhI) 
 

 

2. Find the multiplicative inverse of 5-2   

5-2 dw guxwqmk aul~t pqw kro? 

(a) 5   (b) 25    (c) 125  (d) -2 

 

3. Find the value of (2)-5 × (2)6  
   

(2)-5
 × (2)6 dw mu~l pqw kro? 

(a) 2   (b) -2   (c) -5   (d) 6 

 

4. Value of  53 4 is      

 53 4 dw mu~l kI hovygw?  
(a) 57   (b) 512

    (c) 5-1   (d) 58 

 

5. Find the value of  20 × 30 × 50 0   
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 20 × 30 × 50 0 dw mu~l pqw kro? 

(a) 0  (b) 30   (c) 1  (d) None of these (iehnW iv~coN koeI nhI) 
  

6. (-1)23
 is equal to      

(-1)23 brwbr hovygw 
(a) -1   (b) 1   (c) -23   (d) 23 

 

7. Find the value of 1000 + 200 + 50   
1000 + 200 + 50 

 dw mu~l pqw kro? 

(a) 125   (b) 25   (c) 3   (d) 0 

 

8. 22 × 21 × 25 is equal to     

22 × 21
 × 25 brwbr hovygw 

(a) 64  (b) 32  (c) 256  (d) None of these (iehnW iv~coN koeI nhI) 
 

9. 3×3×3×3×3×3×3 is equal to 38   (True / False)  

3×3×3×3×3×3×3 brwbr hovygw 38   (shI / glq) 
 

10. The multiplicative inverse of a-m is am
  (True / False) 

a-m
 dw guxwqmk aul~t am hovygw[  (shI / glq) 

 

11. am ÷ an = am+n  (True / False)  

am ÷ an = am+n   (shI / glq) 
 

12.  32 + 42 0= __________  

 

13. The value of 
1

5−2is __________   
1

5−2dw mu~l __________ 

 

14. The value of a0
 is __________   

a0
 dw mu~l __________ 

 

15. 37 ÷ 39 = __________  

 
Factorisation 

1. 15x ਅਤ੃  25 ਦਾ ਸਾਂਝਾ ਗੁਣਨਖੰਡ ਹ੄: 
Common Factor of 15x and 25 is ? 

(a) 5   (b) 3    (c) 5x   (d) 3x 

2. 7𝑝𝑞 ਅਤ੃ 28𝑝2𝑞2 ਦਾ ਸਾਂਝਾ ਗੁਣਨਖੰਡ ਹ੄: 
Common Factor of 7𝑝𝑞 and 28𝑝2𝑞2: 

(a) pq   (b) 7p   (c) 7q   (d) 7pq 
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3. 4𝑥𝑦3, 10𝑥3𝑦2 ਅਤ੃ 8𝑥2𝑦2𝑧 ਦਾ ਸਾਂਝਾ ਗੁਣਨਖੰਡ ਹ੄: 
Common Factor of 4𝑥𝑦3, 10𝑥3𝑦2 and 8𝑥2𝑦2𝑧: 

(a) xy    (b) 2   (c) 2x𝑦2   (d) 2xy 

4.   7𝑝 − 14𝑞  ਦ੃ ਗੁਣਨਖੰਡ ਹਨ: 

Factors of 7𝑝 − 14𝑞 

(a) 7(p-q)  (b) p(7-2q)  (c) 7(p-2q)  (d) None of these 

5.   10𝑝𝑞 − 15𝑞𝑟 + 20𝑟𝑝 ਦ੃ ਗੁਣਨਖੰਡ ਹਨ: 

Factors of 10𝑝𝑞 − 15𝑞𝑟 + 20𝑟𝑝 

(a) 𝑝𝑞(10𝑟 − 15𝑝 + 20𝑞)     (b) 2(5qp-7qr+10rp)      

(c) 5(2𝑝𝑞 − 3𝑞𝑟 + 4𝑟𝑝)                           (d) None of these 

6.   15𝑎 𝑥2 + 𝑦2 − 10𝑏 𝑥2 + 𝑦2  ਦ੃ ਗੁਣਨਖੰਡ ਹਨ: 

Factors of 15𝑎 𝑥2 + 𝑦2 − 10𝑏 𝑥2 + 𝑦2   
(a)15𝑎 𝑥2 + 𝑦2      (b)  𝑥2 + 𝑦2     

(c) 10𝑏 𝑥2 + 𝑦2      (d) 5(3𝑎 − 2𝑏) 𝑥2 + 𝑦2  

7. (5𝑙 + 3𝑚)2 − 5𝑙 − 3𝑚 ਦ੃ ਗੁਣਨਖੰਡ ਹਨ: 

Factors of (5𝑙 + 3𝑚)2 − 5𝑙 − 3𝑚 

(a)(5𝑙 + 3𝑚)2     (b)  5𝑙 + 3𝑚 (−5𝑙 − 3𝑚)  

(c)  5𝑙 + 3𝑚 (5𝑙 + 3𝑚 − 1)             (d) None of these 

 

 

8. 𝑎2 + 𝑎𝑏 1 + 𝑏 + 𝑏3 ਦ੃ ਗੁਣਨਖੰਡ ਹਨ: 

Factors of 𝑎2 + 𝑎𝑏 1 + 𝑏 + 𝑏3 

(a) 𝑎 + 𝑏 (𝑎 + 𝑏2)                         (b)  𝑎 + 1 (𝑎 + 𝑏2)   

(c)  1 + 𝑏 (𝑎 + 𝑏2)     (d)  𝑎 + 1 (𝑎 + 𝑏3) 

9. 100𝑥2 − 80𝑥𝑦 + 16𝑦2 ਦ੃ ਗੁਣਨਖੰਡ ਹਨ: 

Factors of 100𝑥2 − 80𝑥𝑦 + 16𝑦2 

(a)(10𝑥 + 4𝑦)2     (b) (10𝑥 − 4𝑦)2    

(c)  (100𝑥 − 16𝑦)2     (d) None of these 

10. 𝟒𝒙𝟐 − 𝟖𝒙 + 𝟒 ਦ੃ ਗੁਣਨਖੰਡ ਹਨ: 

Factors of 𝟒𝒙𝟐 − 𝟖𝒙 + 𝟒 

(a)𝟒 𝒙 − 𝟏 (𝒙 − 𝟏)     (b) 𝟒 𝒙 − 𝟏 (𝒙 + 𝟏)   

(c) 𝟒 𝒙 + 𝟏 (𝒙 + 𝟏)     (d)  𝟐𝒙 − 𝟏 (2𝒙 − 𝟏) 

11. 𝟒𝟗𝒙𝟐 − 𝟑𝟔 ਦ੃ ਗੁਣਨਖੰਡ  𝟕𝒙 − 𝟔 (___________)  ਹਨ। 
Factors of 𝟒𝟗𝒙𝟐 − 𝟑𝟔 are  𝟕𝒙 − 𝟔 (___________) 

 

12. 𝟖𝒙𝟓 − 𝟓𝟔𝐱𝟑 ਦ੃ ਗੁਣਨਖੰਡ  𝟖𝒙𝟑 (___________)  ਹਨ। 
Factors of 𝟖𝒙𝟓 − 𝟓𝟔𝐱𝟑 are  𝟖𝒙𝟑 (___________) 

 

13. 𝒙𝟐 + 𝟕𝐱 + 𝟏𝟐 ਦ੃ ਗੁਣਨਖੰਡ  𝒙 + 𝟑 (___________)  ਹਨ। 
Factors of 𝒙𝟐 + 𝟕𝐱 + 𝟏𝟐 are  𝒙 + 𝟑 (___________) 
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14. 𝟏𝟎𝟎𝐱𝟐 ÷  𝟐𝟎 = _________________ 
 

15.  –𝟑𝟓𝐲𝟒 ÷  −𝟕𝐲𝟑 = _________________ 

 

16.  𝟑𝒙𝟐 − 𝟒𝒙 ÷ 𝟕𝒙 = _________________ 
 

17. 𝒙 𝒙 + 𝟏  𝒙 + 𝟐  𝒙 + 𝟑 ÷ 𝒙 𝒙 + 𝟏 = _____________ 
 

18. (𝒂 + 𝒃)𝟐 =  𝒂𝟐 + ________ + _________ 
 

19. (𝒂 − 𝒃)𝟐 =  𝒂𝟐 + ________ − _________ 
 

20.  𝒂𝟐 − 𝒃𝟐 = (__________)(___________) 

 

 

Introduction to Graphs 

1. ਭੂਰ ਦਫੰਦੂ ਦ੃ ਦਨਯਦ੃ਸ਼ ਅੰਕ ਹੰੁਦ੃ ਹਨ   /The coordinates of origin are: 

(a) (1,0)   (b) (0,1)   (c) (0,0)    (d) (1,1)  

2. ਦਫੰਦੂ (1,0 )  ਸਦਥਤ ਹ੄ / The Point (1,0) lies on : 

(a) x–ਧੁਯ੃ ‘ਤ੃  ( on x-axis)   (b) y–ਧੁਯ੃ ‘ਤ੃  ( on y-axis)    

(c)  ਭੂਰ ਦਫੰਦੂ ਤ੃ ( On Origin)    (d) ਇਹਨਾਂ ਦ ੱਚੋਂ ਕ੅ਈ ਨਹੀਂ (None of these) 

3. ਦਫੰਦੂ ਦਾ ਬੁਜ ਹ੄ (2,7) / The abscissa of (2,7) is: 

(a) 0   (b) 2  (c) 7  (d) ਇਹਨਾਂ ਦ ੱਚੋਂ ਕ੅ਈ ਨਹੀਂ ( None of these) 

4.   ਦਫੰਦ(ੂ2,7) ਦੀ ਕ੅ਟੀ ਹ੄ /The ordinate of (2,7) is: 
 (a) 0   (b) 2  (c) 7   (d) ਇਹਨਾਂ ਦ ੱਚੋਂ ਕ੅ਈ ਨਹੀਂ ( None of these) 

 5.    ਉਸ ਦਫੰਦੂ ਦ੃ ਦਨਯਦ੃ਸ਼ ਅੰਕ ਕੀ ਹਨ ਦਜਸ ਦਾ ਬੁਜ 3 ਅਤ੃ ਕ੅ਟੀ -7 ਹਨ :  

The Coordinates of point whose abscissa is 3 and ordinate is -7 is:  

(a)(3,7)   (b) (-7,3)     (c) (3,-7)      (d) (7,3) 
6.  ਉਸ ਦਫੰਦੂ ਦ੃ ਦਨਯਦ੃ਸ਼ ਅੰਕ ਕੀ ਹਨ ਦਜਸ ਦਾ  x- ਦਨਯਦ੃ਸ਼ ਅੰਕ 0 ਅਤ੃ y- ਦਨਯਦ੃ਸ਼ ਅੰਕ 5 ਹ੄ : 

The Coordinates of a point whose x coordinate is 0 and y coordinate is 5 is:  

(a)(0,5)  (b) (5,0)    (c) (0,0)              (d) (5,5) 

7. ਦਕਹੜਾ ਦਫੰਦੂ x- ਧੁਯ੃ ਤ੃ ਸਦਥਤ ਹ੄: Which Point lies on x-axis? 

(a)(2,3)  (b) (4,5)  (c) (0,x)       (d) (x,0) 

dell
Typewriter
Page 17



dell
Typewriter
Page 18



   The product of two rational numbers is  
−𝟖

𝟗
  . If one of the number is   

−𝟐

𝟓
 .  Find the other 

number. 

13.   
−𝟑

𝟒
   ਨੰੂ ਦਕਹੜੀ ਸੰਦਖਆ ਨਾਰ ਗੁਣਾ ਕਯੀਏ ਤਾਂ ਜ੅ ਗੁਣਨਖੰਡ  𝟏𝟓

𝟏𝟔
   ਹ੅ ਜਾ ੃। 

     By what number should   
−𝟑

𝟒
   be multiplied so that the product is  𝟏𝟓

𝟏𝟔
 ? 

Square and Square root  

 
1. 256 nUM pihlIAW 16 tWk sMiKAwvW dy joV dy rUp iv`c drswE[Express 256 as sum of first 16 odd 

numbers.  
2. hyT id`qIAW sMiKAwvW pUrn vrg nhI hn[ kwrn d`so[The following numbers are perfect square 

or not. Give reasons for your answer. 
177,  64000, 1058 

3. hyT id`qIAW sMiKAwvW ivc̀ isPrW dI igxqI d`so[The number of zeroes in the following numbers. 
90, 120, 400 

4. pweIQwgorIAn iqRgut̀ pqw kro ijsdI ie`k sMiKAw 12 hovy[Find the Pythagorean triplet if one of its 

number is  12. 
5. pYtrn pUrw kro: Complete the pattern:  
 

 
 
6. 121 dw GtwE ivDI rwhIN vrgmUl pqw kro[Find the square root of 121 with subtraction method. 
7. ABwj guxnKMf ivDI nwl 1764 dw vrgmUl pqw kro[ Find the square root of 1764 with the help 

of prime factorisation.  
8. auh CotI qoN CotI sMiKAw pqw kro ijsnUM 2662 nwl guxw krn ‘qy auh pUrn vrg bx jwvy[Find the 

smallest number with which 2662 can be multiplied to make it a perfect square. 
9. auh CotI qoN CotI sMiKAw pqw kro ijsnUM 3125 nwl vMfx ‘qy auh pUrn vrg bx jwvy[Find the 

smallest number with which 3125 is divided to make it a perfect square. 
10. auh CotI qoN CotI pUrn vrg sMiKAw pqw kro jo 8,12,28 nwl BwjXog hovy[Find  the smallest perfect 

square number which can be divided by 8, 12, 28.  
11. vMf ivDI rwhIN 50176 dw vrgmUl pqw kro[ Find square root of 50176 with the help of division 

method. 
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12. auh CotI qoN CotI sMiKAw pqw kro ijsnUM 540 ivc̀ joVn ‘qy auh pUrn vrg bx jwvy[Find the 

smallest number that can be added to 540 to make it a perfect square. 
13. auh CotI qoN CotI sMiKAw pqw kro ijsnUM 1140 ivc̀oN Gtwaux ‘qy auh pUrn vrg bx jwvy[Find the 

smallest number to be subtracted from 1140 to make it a perfect square. 
14. cwr AMkW dI CotI qoN CotI pUrn vrg sMiKAw pqw kro Aqy ausdw vrgmUl vI pqw kro[Find the 

smallest perfect square number of four digits and its square root also. 
15. ie`k vrg dw KyqrPl 384 vrg sm hY qW ausdI Bujw pqw kro[The area of a square is 384 square 

cm. Find its side. 
16. 9.61 dw vrgmUl pqw kro[Find the square root of 9.61. 
17. 16964  dw vrgmUl pqw kro[Find the square root of 16964  . 
18. ie`k smkoxI iqkox dy krn dI lMbweI pqw kro ijsdIAW BujwvW 6sm Aqy 8 sm hn[ Find the 

length of hypotenuse in a right angle triangle whose sides are 6 cm and 8 cm. 
 

Cube and Cube root  
 
 

1. Evaluate / h~l kro[ (i)  
1

13
 

3

 (ii)  
3

8
 

3

  

2. Find the smallest number by which 625 must be multiplied so that product is a perfect 

cube.  

sB qoN CotI sMiKAw pqw kro ijs nwl 625 nMU guxw krn qy pUrn Gx bx jwvy ? 

3. Cube of a number is 3375. Find the number? 
sMiKAw dw Gx 3375 hovy qW sMiKAw pqw kro? 

4. By what least number should 2187 be divided to get a perfect cube?  

ikhVI CotI sMiKAw nwl Bwg kIqw jwvy ik 2187 ie~k pUrn Gx bx jwvy? 

5. What is the cube root of 1331? 

1331 ਦਾ ਘਣਭੂਰ ਕੀ ਹ੅ ੃ਗਾ? 

6.  Find the volume of cube having side 15cm. 

ਘਣ ਦਾ ਆਇਤਨ ਩ਤਾ ਕਯ੅ ਜ੃ਕਯ ਘਣ ਦੀ ਬੁਜਾ 15 ਸਭ ਹੁ ੃? 

7. Using prime factorization, find cube root of 729000? 

ABwj gunxKMf ivDI rwhI 729000 dw GxmUl pqw kro? 

8. Check whether 8000 is perfect cube by using prime factorization. 

ABwj gunxKMf ivDI rwhI pqw kro ik 8000 pUrn Gx hY jW nhI[ 

9. Express the number 9
3
 as sum of consecutive odd natural numbers. 

93 nUM lgwqr pRwikiqk tWk sMiKAwvW dy joVPl dy rUp iv~c ilKo[ 

 

10. Solve it/ h~l kro  (i) 73 − 63  (ii) 203 − 193  
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11. Find the cube of (-14).  (-14) dw Gx pqw kro[ 

12. Evaluate / h~l kro :  (i)  1728
3

 (ii)  512
3

 

 

Powers and Exponents 
 

1. Find x so that (-5)x+1
 × (-5)3 = (-5)7   

x dw mu~l pqw kro jykr (-5)x+1
 × (-5)3 = (-5)7 

2. Find the value of p for which 5p ÷ 5-3 = 55 

p dw mu~l pqw kro jykr 5p ÷ 5-3
 = 55 

3. Find the value of (2-1
 + 3-1

 + 4-1)0 

(2-1
 + 3-1

 + 4-1)0 dw mu~l pqw kro? 

4. Express the following number in standard form: 0.000085  

0.000085 nMU imAwrI rUp iv~c drswa[ 

 

5. Express the following number in usual form: 7.89 × 10-4 
7.89 × 10-4 nMU swDwrn rUp iv~c drswa[ 

6. Evaluate: h~l kro   1

3
 
−2

+  
1

4
 
−2

+  
1

5
 
−2

 

 

7. Evaluate: h~l kro (-4)-3 × 5-3 × (-5)-3  

8. Evaluate: h~l kro   5

8
 
−7

×  
8

5
 
−4

 

9. Find the value of: h~l kro    2

3
 
−4

    

10. Evaluate: h~l kਯ੅  −5 −4 ×  
3

5
 

4

       

  

11. Evaluate: h~l kਯ੅  5

6
 

7

×  
6

5
 

3

   

12. Evaluate: h~l kro   −3

4
 
−2

 
2

  

 

13. Find the value of m?   
−2

3
 
−13

×  
3

−2
 

8

=  
−2

3
 
−2𝑚+1

  

m dw mu~l pqw kro?  −2

3
 
−13

×  
3

−2
 

8

=  
−2

3
 
−2𝑚+1
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Four Mark Questions 
Linear Equations 

 

1.  ਦਦਿੱ ਤੀ ਷ਭੀਓਰਨ ਨੂੂੰ  ਸਿੱਲ ਓਰ੅ ਅਤ੃ ਉੱਤਰ ਦੀ ਜਾਂਚ ਓਰ੅  : 5a – 3 = 3a - 5 

  Solve the following equation and verify the result : 5a – 3 = 3a – 5 

2. ਦਦਿੱ ਤੀ ਷ਭੀਓਰਨ ਨੂੂੰ  ਸਿੱਲ ਓਰ੅ ਅਤ੃ ਉੱਤਰ ਦੀ ਜਾਂਚ ਓਰ੅  : 4x + 3 = 2(x-1) + 5 

  Solve the following equation and verify the result : 4x + 3 = 2(x-1) + 5 

3. ਇਿੱਓ ਷ੂੰ ਦਔਆ ਅਦਜਸੀ ਸ੄ ਦਓ ਦਜੂੰ ਨੀ ਉਸ 84 ਤੋਂ ਵਿੱ ਧ ਸ੄, ਉੱਨੀ ਸੀ 108 ਤੋਂ ਖਿੱ ਟ ਸ੄। ਷ੂੰ ਦਔਆ ਩ਤਾ ਓਰ੅।  

  A number is such that it is as much greater than 84 as it is less than 108. Find the number. 

4. ਜ੃ਓਰ ਦਓ਷੃ ਷ੂੰ ਦਔਆ ਦ੃ 5 ਕੁਣਾ ਦਵਿੱ ਚੋਂ 5 ਖਟਾਇਆ ਜਾਵ੃ ਤਾਂ ਨਤੀਜਾ ਉ਷ ਷ੂੰ ਦਔਆ ਦ੃ ਦੁਕਣ੃ ਤੋਂ 4 ਵਿੱ ਧ ਆਉਂਦਾ ਸ੄ ਤਾਂ 
਷ੂੰ ਦਔਆ ਩ਤਾ ਓਰ੅। 

 Find a number such that when 5 is subtracted from 5 times the number, the result is 4 more than twice 
the number. 

5. ਩ਰੀਤ ਦੀ ਉਭਰ ਅਫਦੁਲ ਦੀ ਉਭਰ ਤੋਂ 6 ਷ਾਲ ਵਿੱ ਧ ਸ੄। 6 ਷ਾਲ ਩ਦਸਲਾ ਩ਰੀਤ ਦੀ ਉਭਰ ਅਫਦੁਲ ਦੀ ਉਭਰ ਦਾ 4 
ਕੁਣਾ ਷ੀ। ਦ੅ਨਾਂ ਦੀ ਵਰਤਭਾਨ ਉਭਰ ਩ਤਾ ਓਰ੅। 
Preet is 6 years older than Abdul. Six years ago , Preet’s age was four times Abdul’s age. Find their 
present ages. 

6. ਇਿੱਓ ਦ੅ ਅੂੰ ਓਾਂ ਵਾਲੀ ਷ੂੰ ਦਔਆ ਦ੃ ਅੂੰ ਓਾਂ ਦਾ ਜ੅ੜਪਲ 9 ਸ੄। ਜਦੋਂ ਅ਷ੀ ਅੂੰ ਓਾਂ ਨੂੂੰ  ਉਲਟਾਉਂਦ੃ ਸਾਂ ਤਾਂ  ਨਵੀਂ ਫਣੀ ਷ੂੰ ਦਔਆ ਅ਷ਲ 
਷ੂੰ ਦਔਆ ਤੋਂ 27 ਦਜਆਦਾ ਩ਰਾ਩ਤ ਸੁੂੰ ਦੀ ਸ੄। ਷ੂੰ ਦਔਆ ਩ਤਾ ਓਰ੅।  

Sum of digits of a two digits number is 9. When we interchange the digits, it is found that the resulting 
new number is greater than the original number by 27. Find the two digit number. 

7. ਦਦਿੱ ਤੀ ਷ਭੀਓਰਨ ਨੂੂੰ  ਸਿੱਲ ਓਰ੅ ।  Solve the given equation. 

       
𝒙

𝟐
  -    

𝟏

𝟓
  =   

𝒙

𝟑
  + 2 

8. ਦਦਿੱ ਤੀ ਷ਭੀਓਰਨ ਨੂੂੰ  ਸਿੱਲ ਓਰ੅ ।  Solve the given equation. 

        
𝒏

𝟐
   -    

𝟑𝒏

𝟒
  +   

𝟓𝒏

𝟔
  = 21 

9. ਦਦਿੱ ਤੀ ਷ਭੀਓਰਨ ਨੂੂੰ  ਸਿੱਲ ਓਰ੅ ।  Solve the given equation. 

       m -   
𝒎−𝟏

𝟐
   =  1 -    

𝒎−𝟐

𝟑
   

10. ਦਦਿੱ ਤੀ ਷ਭੀਓਰਨ ਨੂੂੰ  ਸਿੱਲ ਓਰ੅ ।  Solve the given equation. 

   4(x+2) – 5   =  2(x-1) + 7 
 

Understanding Quadrilaterals 
 

1. ਇਿੱਓ ਷ਭਾਂਤਰ ਚਤੁਰਬੁਜ ਦ੃ ਦ੅ ਲਾਕਵੇਂ ਓ੅ਣਾਂ ਦਾ ਅਨੁ਩ਾਤ 2:3  ਸ੄। ਷ਾਰ੃ ਓ੅ਣਾਂ ਦਾ ਭਾ਩ ਩ਤਾ ਓਰ੅। 
    The ratio of two adjacent angles of a parallelogram is 2:3. Find the measure of all the angles. 

2. ਇਿੱਓ ਷ਭਾਂਤਰ ਚਤੁਰਬੁਜ ਦ੃ ਦ੅ ਲਾਕਵੇਂ ਓ੅ਣ ਦਾ ਅਨੁ਩ਾਤ 3:7 ਸ੄। ਷ਾਰ੃ ਓ੅ਣਾਂ ਦਾ ਭਾ਩ ਩ਤਾ ਓਰ੅। 
   The ratio of two adjacent angles of a parallelogram is 3 :7. Find the measure of all the angles. 

3.  ਷ਭਾਂਤਰ ਚਤੁਰਬੁਜ RING ਦਵਿੱ ਚ R=700 ਸ੄। ਇ਷ ਦ੃ ਫਾਓੀ ਷ਾਰ੃ ਓ੅ਣਾਂ ਦਾ ਭਾ਩ ਩ਤਾ ਓਰ੅ ।   

      Parallelogram RING has R=700. Find the measure of all its other angles 
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4. ਸ੃ਠਾਂ ਦਦਿੱ ਤੀਆਂ ਷ਭਾਂਤਰ ਚਤੁਰਬੁਜਾਂ ਦਵਿੱ ਚ x, y ਅਤ੃ z  ਦਾ ਭੁਿੱ ਲ ਩ਤਾ ਓਰ੅। 
    Find the values of x, y and z in the following parallelograms. 
 
 
 

5. ਸ੃ਠਾਂ ਦਦਿੱ ਤੀਆਂ ਷ਭਾਂਤਰ ਚਤੁਰਬੁਜਾਵਾਂ ਦਵਿੱ ਚ x ਤ੃ y ਦਾ ਭੁਿੱ ਲ ਩ਤਾ ਓਰ੅। 
     Find the values of x and y in the following parallelograms. 
 
 
 

 

 

 

6. ਦਦਿੱ ਤ੃ ਦਚਿੱ ਤਰ ਦਵਿੱ ਚ ABCD ਇਿੱਓ ਆਇਤ ਸ੄ ਅਤ੃  BAC = 360, ACB ਩ਤਾ ਓਰ੅। 
      In the given figure ABCD is a rectangle and BAC = 360, find ACB. 
 

7. ਦਦਿੱ ਤ੃ ਦਚਿੱ ਤਰ ਦਵਿੱ ਚ PQRS ਇਓ ਷ਭਚਤੁਰਬੁਜ ਸ੄। x ਅਤ੃ y ਦਾ ਭੁਿੱ ਲ ਩ਤਾ ਓਰ੅। 
    In the given figure PQRS is a rhombus. Find the value of x and y. 

 
 

8. ਦਦਿੱ ਤ੃ ਸ੅ਏ ਦਚਿੱ ਤਰ ਦਵਿੱ ਚ ABCD  ਇਿੱ ਓ ਆਇਤ ਸ੄ । x ਅਤ੃ y ਩ਤਾ ਓਰ੅ । 

    In the given figure, ABCD is a rectangle. Find x and y. 
 

 
 

Algebraic expressions and identities 

 
1. Add the following : 

ਸ੃ਠ ਦਲਦਔਆ ਂਦਾ ਜ੅ੜ ਓਰ੅: 
7xy + 5yz - 3zx , 4xy + 7zx , 3yz + 4 

 

2.Subtract the third expression from the sum of first two expressions: 

਩ਦਸਲ੃ ਦ੅ ਦਵਅੂੰ ਜਓਾਂ ਦ੃ ਜ੅ੜ ਦਵਿੱ ਚੋਂ ਤੀ਷ਰ੃ ਦਵਅੂੰ ਜਓ ਨੂੂੰ  ਖਟਾ਑ 

0.4xyz + 0.3xy² , 0.7xyz + 0.2xy² , xyz + 0.4xy² 

 

3.Simplify the expression and find the value as directed 

ਵਿਅੰਜਕ ਨੰੂ ਸਰਲ ਕਰ੅ ਅਤ੃ ਵਨਰਦ੃ਸ਼ ਅਨੁਸਾਰ ਭੁੁੱਲ ਩ਤਾ ਕਰ੅। 

2y(3y-7)-2(y+4)+5 , y=-3 
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4.Find the product / ਕੁਣਨਪਲ ਩ਤਾ ਓਰ੅ : 
i) x²y/3 , 9y²z , -8z²x 

ii) a/2, b/3, c/4 

 

5. 2xy(x+y+z)  ਅਤ੃ 3y(x²-xy+xz) ਦ੃ ਜ੅ੜ ਨੂੂੰ  5x(xy+y²-4yz) ਦਵਚੋਂ ਖਟਾ਑  
Subtract the sum of 2xy(x+y+z)  and 3y(x²-xy+xz) from 5x(xy+y²-4yz) 

 

 

6. Simplify / ਷ਰਲ ਓਰ੅ 
(a+b)(a-b) + (b+c)(b-c) + (c+a)(c-a) 

 

7. Using a suitable identity find the value of 

ਉਦਚਤ ਤਤ਷ਭਓ ਦੀ ਵਰਤੋਂ ਓਰਦ੃ ਸ੅ਏ ਭੁਿੱ ਲ ਩ਤਾ ਓਰ੅ 
( 9. 9)² 

 

8. Using a suitable identity find the value of 

ਉਦਚਤ ਤਤ਷ਭਓ ਦੀ ਵਰਤੋਂ ਓਰਦ੃ ਸ੅ਏ ਭੁਿੱ ਲ ਩ਤਾ ਓਰ੅ 
(5y²-1)(5y²+2) 

 

9. Simplify  / ਷ਰਲ ਓਰ੅ 
(9p-5q)² - (9p+5q)² 

 

10. Prove that / ਦ਷ਿੱ ਧ ਓਰ੅ 
(2x+5)² -40x = (2x-5)² 

  

Direct and Inverse Variations 
 

1.  An electric pole, 14 m high, casts a shadow of 10 m. Find the height if tree that casts a shadow of 

15 m under similar conditions.  
14 mitr au~cy ie~k ibjlI dy KMby dw prCwvW 10 mItr hY[ smwn siQqIAW iv~c aus drKq dI 
aucweI pqw kro ijsdw prCwvW 15 mItr hY[  
 

2. A train is running at a uniform speed of 75 km/h. 
(i) How far will it cover in 20 min? 

(ii) How much time does it take to cover a distance of 250 km?  

ie~k rylg~fI 75 km/h dy ie~k smwn (uniform) cwl qy c~l rhI hY[  
(i) auh 20 imMt iv~c ikMnI dUrI qYh krygI? 

(ii) 250 km dI dUrI qYh krn qy l~gx vwlw smW pqw kro?  
 

3. A machine in a soft drink factory fills 840 bottles in 6 hours, how many bottles will it fill in 5 

hours? 
ie~k swPt firMk PYktrI iv~c ie~k mSIn 840 boqlW 6 GMty iv~c BrdI hY, auh mSIn pMj GMty iv~c 
ikMnIAW boqlW BrygI?  

 

4. A loaded truck travels 14 km in 25 minutes. If the speed remains the same, then how far can it 

travel in 5 hours 
mwl dw l~idAw hoieAw ie~k tr~k 25 imMt iv~c 14 km cldw hY[ jy cwl auhI rhy, qW auh 5 GMty 
iv~c ikMnI dUrI qYA kr lvygw? 
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5. There are 100 students in a hostel. Food provision for them is for 20 days. How long will these 

provisions last, if 25 more students join the group? 
ie~k hostl iv~c 100 ividAwrQI hn Aqy auhnW dy Bojn dI sm~grI 20 idn dy keI kwPI hY[ jy 
ies smUh iv~c 25 ividAwrQI hor Aw jwx, qW ieh Bojn sm~grI ikMny idn clygI? 

 

6. 6 pipes are required to fill a tank in 1 hour 20 minutes. How long will it take if only 5 pipes of the 

same types are used? 
ie~k tYNkI nMU 1 GMty 20 imMt iv~c Brn dy leI 6 pweIpW dI zrUrq pYNdI hY[ jy aus qrHW dIAW kyvl 
5 pweIpW dw hI aupXog kIqw jwvy, qW auh tYNkI ikMny smyN iv~c BrygI?   

 

7. If a box of sweets is divided among 24 children, they will get 5 sweets each. How many would 

each get, if the number of children is reduced by 4? 

jykr iksy f~by dI imTweI nUM 24 b~icAW iv~c vMifAw jwvy qW hryk b~cy nUM 5 imTweIAW imldIAW 
hn[ jy  b~icAW dI sMiKAw iv~c 4 dI kmI ho jwvy qW hryk b~cy nUM ikMnIAW imTweIAW imlngIAW? 

 

8. If 15 workers can build a wall in 48 hours, then how many workers will be required to do the 

same work in 30 hours? 

jy 15 mjdUr iksy dIvwr nUM 48 GMty iv~c bxw skdy hn, qW iesy kMm nUM 30 GMty iv~c pUrw krn leI 
ikMny mjdUrW dI zrUrq hovygI? 

 

9. A company required 42 machines to make a product in 63 days. How many machines would be 

required to make the same product in 54 days?  
ie~k PYktrI nMU kuJ vsqUAW 63 idnW iv~c bxwaux dy leI 42 mSInW dI jrUrq hUMdI hY[ aunHIAW hI 
vsqUAW 54 idn iv~c bxwaux dy leI, ikMnIAW mSInW dI jrUrq hovygI? 

 

10. A car take 2 hours to reach a destination by travelling at the speed of 60 km/h. How long will it 

take when the car travels at the speed of 80 km/h? 

ie~k kwd ie~k sQwn q~k phuMcx iv~c 60 km/h dI cwl iv~c c~l ky 2 GMitAW dw smW lYNdI hY[80 km/h 
dI cwl nwl aus kwr nUM ikMnw smW lgygw? 
 

Factorisation 
 

1. ivAMjk (𝒂𝟐𝒃𝒄 + 𝒂𝒃𝟐𝒄 + 𝒂𝒃𝒄𝟐) dw guxnKMfIkrn kro[ 

( Factorise the expression (𝒂𝟐𝒃𝒄 + 𝒂𝒃𝟐𝒄 + 𝒂𝒃𝒄𝟐)) 
 

2. ivAMjk 𝟑𝒂 𝟐𝒑 − 𝟑𝒒 − 𝟓𝒃(𝟐𝒑 − 𝟑𝒒) dw guxnKMfIkrn kro[ 

( Factorise the expression 𝟑𝒂 𝟐𝒑 − 𝟑𝒒 − 𝟓𝒃(𝟐𝒑 − 𝟑𝒒)) 
 

3. ivAMjk 𝒙𝟐 + 𝒙𝒚 + 𝟔𝒙 + 𝟔𝒚 dw guxnKMfIkrn kro[ 

( Factorise the expression 𝒙𝟐 + 𝒙𝒚 + 𝟔𝒙 + 𝟔𝒚) 
 

4. ivAMjk 𝟒𝟗𝒂𝟐 + 𝟖𝟒𝒂𝒃 + 𝟑𝟔𝒃𝟐 dw guxnKMfIkrn kro[ 

( Factorise the expression 𝟒𝟗𝒂𝟐 + 𝟖𝟒𝒂𝒃 + 𝟑𝟔𝒃𝟐) 
 

5. ivAMjk 𝟐𝟖𝒙𝟐 − 𝟔𝟑𝒚𝟐 dw guxnKMfIkrn kro[ 

( Factorise the expression 𝟐𝟖𝒙𝟐 − 𝟔𝟑𝒚𝟐) 
 

6. ivAMjk 𝒂𝟒 − 𝟖𝟏 dw guxnKMfIkrn kro[ 

( Factorise the expression 𝒂𝟒 − 𝟖𝟏) 
 

7. ivAMjk 𝒂𝟐 + 𝟐𝒂𝒃 + 𝒃𝟐 − 𝒄𝟐 dw guxnKMfIkrn kro[ 
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( Factorise the expression  𝒂𝟐 + 𝟐𝒂𝒃 + 𝒃𝟐 − 𝒄𝟐) 
 

8. bhupd (−𝟏𝟐𝒂 + 𝟐𝟐𝒂𝟐 − 𝟏𝟔𝒂𝟑 + 𝟒)  nMU 𝟐𝒂 nwl Bwg kro[ 

Divide the polynomial (−𝟏𝟐𝒂 + 𝟐𝟐𝒂𝟐 − 𝟏𝟔𝒂𝟑 + 𝟒) by 𝟐𝒂. 
 

9. bhupd 𝒙 𝒙 + 𝟏  𝒙 + 𝟐  𝒙 + 𝟑  nMU 𝒙 𝒙 + 𝟏  nwl Bwg kro[ 

Divide the polynomial 𝒙 𝒙 + 𝟏  𝒙 + 𝟐  𝒙 + 𝟑  by 𝒙 𝒙 + 𝟏 . 
 

10. bhupd  𝒑𝟐 − 𝟔𝒑 − 𝟐𝟕    nMU  𝒑 − 𝟗  nwl Bwg kro[ 

        Divide the polynomial  𝒑𝟐 − 𝟔𝒑 − 𝟐𝟕  𝒃𝒚  𝒑 − 𝟗 . 
 

11. bhupd  𝒑𝟐 + 𝟏𝟐𝒑 + 𝟑𝟓   nMU (𝒑 + 𝟕) nwl lMbI vMf ivDI duAwrw Bwg kro[ 

        Divide the polynomial  𝒑𝟐 + 𝟏𝟐𝒑 + 𝟑𝟓   by (𝒑 + 𝟕) by long division method. 

 
12. bhupd 𝒛(𝟓𝒛𝟐-80) nMU 𝟓𝒛(𝒛 + 𝟒) nwl Bwg kro[ 

Divide the polynomial 𝒛(𝟓𝒛𝟐-80) by  𝟓𝒛(𝒛 + 𝟒). 
 

Introduction to Graphs 

1. ਸ੃ਠਾਂ ਦਦਿੱ ਤ੃ ਦਫੂੰ ਦੂਆਂ ਨੂੂੰ  ਕਰਾਪ ਤ੃ ਦਰ਷ਾ਑। 

    Plot the following points on the graph paper: 
A(2,3)        B(0,3)        C(5,0)         D(0,0)        
E(3,2)         F(2,2)        G(1,4)         H(3,7) 

2.  ਦਦਿੱ ਤਾ ਰ੃ਔਾ ਕਰਾਪ ਇਓ ਉਤ਩ਾਦਓ ਓੂੰ਩ਨੀ ਦੀ ਅਲਿੱ ਕ ਅਲਿੱ ਕ ਷ਾਲਾਂ ਦਵਿੱ ਚ ਦਵਓਰੀ ਨੂੂੰ  ਦਰ਷ਾਉਂਦਾ ਸ੄। 

    The following graph shows the yearly sales figures of a manufacturing company: 
 

 
 

(i) 2010, 2011, 2014 ਅਤ੃ 2016 ਷ਾਲ ਦਵਿੱ ਚ ਦਓੂੰ ਨੀ ਦਵਓਰੀ ਷ੀ ? 

  What was the sales in 2010, 2011, 2014 and 2016? 

(ii) 2013 ਅਤ੃ 2015 ਦਵਿੱ ਚ ਸ੅ਈ ਦਵਓਰੀ ਦਾ ਅੂੰਤਰ ਩ਤਾ ਓਰ੅। 

Compute the difference between the sales in 2015 and 2013. 

(iii) ਓੀ ਸਰ੃ਓ ਷ਾਲ ਦਵਿੱ ਚ ਦਵਓਰੀ ਫਰਾਫਰ ਷ੀ ? 

    Whether the sale was same in every year? 
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3. ਦਦਿੱ ਤਾ ਕਰਾਪ ਇਿੱਓ ਸਪਤ੃ ਦਵਿੱ ਚ ਅ਷ਲ ਤਾ਩ਭਾਨ ਅਤ੃ ਅਨੁਭਾਦਨਤ ਤਾ਩ਭਾਨ ਨੂੂੰ  ਦਰ਷ਾਉਂਦਾ ਸ੄। ਕਰਾਪ ਦਾ ਅਦਧਐਨ ਓਰ੅ ਅਤ੃ 
ਸ੃ਠਾਂ ਦਦਿੱ ਤ੃ ਩ਰਸ਼ਨਾਂ ਦ੃ ਉੱਤਰ ਦਦ਑। 

The following graph shows the forecast temperature and actual temperature for each day of a week. 
Study the graph and answer the following questions. 

 
 

i. ਦਓਸੜ੃ ਦਦਨ ਅਨੁਭਾਦਨਤ ਤਾ਩ਭਾਨ ਅਤ੃ ਅ਷ਲ ਤਾ਩ਭਾਨ ਫਰਾਫਰ ਷ੀ? 

   On which days forecast temperature is same as actual temperature? 

ii. ਸਪਤ੃ ਦਵਿੱ ਚ ਷ਬ ਤੋਂ ਵਿੱ ਧ ਅ਷ਲ ਤਾ਩ਭਾਨ ਦਓੂੰ ਨਾ ਷ੀ? 

   What was the maximum actual temperature during the week? 

iii. ਦਓਸੜ੃ ਦਦਨ ਅ਷ਲ ਤਾ਩ਭਾਨ ਅਤ੃ ਅਨੁਭਾਦਨਤ ਤਾ਩ਭਾਨ ਦਾ ਅੂੰਤਰ ਷ਬ ਤੋਂ ਵਿੱ ਧ ਷ੀ? 

   On which day the actual temperature is most differ from the forecast temperature? 

4. ਸ੃ਠਾਂ ਦਦਿੱ ਤੀ ਷ੂਚਨਾ ਦਾ ਕਰਾਪ ਫਣਾ਑ । 

    Draw the graph of following table of values: 

ਵਰਕ ਦੀ ਬੁਜਾ ( ਷ਭ ਦਵਿੱ ਚ) 

Side of square (in cm) 

3 4 5 6 7 8 

਩ਦਰਭਾ਩ (਷ਭ ਦਵਿੱ ਚ) 

Perimeter ( in cm) 

12 16 20 24 28 32 

 

ਓੀ ਇਸ ਰ੃ਔੀ ਕਰਾਪ ਸ੄? 

Is it a linear graph? 
 

5. ਸ੃ਠਾਂ ਦਦਿੱ ਤੀ ਷ੂਚਨਾ ਦਾ ਕਰਾਪ ਫਣਾ਑। 

  Draw the graph of following table of values: 

 ਜਭਾ ਧਨ ਤ੃ ਷ਲਾਨਾ ਦਵਆਜ (Interest on a deposits for a year) 

ਜਭਾ ਧਨ  

Deposits (In Rs.) 

5000 10000 15000 20000 

਷ਧਾਰਨ ਦਵਆਜ 

Simple interest ( In Rs.) 

350 700 1050 1400 
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Six Mark Questions 
Data Handling 

1. ਜਭਾਤ VIII ਦ੃ 30 ਦਵਦਦਆਰਥੀਆਂ ਦੀ ਉਚਾਈ ( cm ਦਵਿੱ ਚ) ਸ੃ਠ ਦਲਔ੃ ਅਨੁ਷ਾਰ ਸ੄ :- 

The height (in cm) of 30 students of class VIII is as follows :- 

   155,158,154,158,149,148,160,150,148,159,161,153,157,153,162,157,154,159,151,160,156,  
     156,152,163,147,155,152,157,153,155. 
    3 cm ਵਰਕ ਅੂੰ ਤਰਾਲ ਨਾਲ ਇਿੱ ਓ ਫਾਰੂੰਫਾਰਤਾ ਷ਾਰਨੀ ਫਣਾਉ । Construct a frequency table with 3 cm square 

intervals. 

2. ਇਿੱਓ ਦਡ਩ਾਰਟਟਭੈਂਟਲ ਷ਟ੅ਰ ‘ਤ੃ ਆਉਣ ਵਾਲ੃  ਕਰਾਸਓਾਂ ਵਾਲ੃  ਨੂੂੰ  ਇ਷ ਩ਰਓਾਰ ਦਚੂੰ ਦਨਿ ਤ ਓੀਤਾ ਸ੄ ।  ਩ੁਰਸ਼ (M), ਇ਷ਤਰੀ 
(W), ਲੜਓੀ (G) ਅਤ੃ ਲੜਓਾ (B) । ਸ੃ਠਾਂ ਷ਵ੃ਰ ਦ੃ ਩ਦਸਲ੃ ਖੂੰ ਟ੃ ਦਵਿੱ ਚ ਆਏ ਕਰਾਸਓਾਂ ਦੀ ਦਲ਷ਟ ਦਦਿੱ ਤੀ ਕਈ  ਸ੄ । 

The customers visiting a departmental store are marked as Male (M), Female (W), Girl (G) and Boy (B). 

Below is the list of customers who came in the first hour of the morning. 

    W W G W B M G G W W M M W W W G B M W W B G M G M W M W W W W M 

W B W M G W W W G W W M M W W M W G G M W M M W B W G G  
 

ਇਸਨਾਂ ਦੀ ਇਿੱ ਓ ਫਾਰੂੰਫਾਰਤਾ ਷ਾਰਨੀ ਫਣਾ਑ । Make a frequency table of them .  

3. ਸ੃ਠ ਦਲਦਔਆਂ ਲਈ ਆਇਤ ਦਚਿੱ ਤਰ ਫਣਾ਑ । Draw Histogram for the following. 

ਅੂੰਓ (Marks) 0-10 10-20 20-30 30-40 40-50 50-60 

ਦਵਦਦ:ਦੀ ਦਕਣਤੀ ( Number of Students ) 6 9 12 8 10 5 

 

4. ਦਦਿੱ ਤਾ ਆਇਤ ਦਚਿੱ ਤਰ ਦਓ਷੃ ਓ਷ਫ੃ ਦਵਿੱ ਚ 10 ਤੋਂ 40 ਷ਾਲ ਉਭਰ ਕੁਿੱ ਟਾਂ ਦਵਿੱ ਚ ਷ਾਔਰਤਾ ਒ਰਤਾਂ ਦੀ ਦਕਣਤੀ ਨੂੂੰ  ਦਰ਷ਾਉਂਦਾ 
ਸ੄। 
The given pie chart shows the number of literate women in the age groups 10 to 40 years in a town 

(i) ਉਸ ਉਭਰ ਕੁਿੱ ਟ ਦਲਔ੅ ਦਜ਷ ਦਵਿੱ ਚ ਷ਾਔਰਤਾ ਆਰਤਾਂ ਦੀ 
 ਷ੂੰ ਦਔਆ ਷ਬ ਤੋਂ ਵਿੱ ਧ ਸ੄। 
Write the age group in which the number of  literate 

females is highest. 

(ii) ਵਰਕ ਅੂੰ ਤਰਾਲ ਦਾ ਭਾ਩ ਓੀ ਸ੄?  

What is the class size of the interval? 

(iii) ਷ਬ ਤੋਂ ਖਿੱ ਟ ਫਾਰੂੰਫਾਰਤਾ  ਓੀ ਸ੄?  

What is the lowest frequency?  

(iv) ਦਓ਷ ਕੁਿੱ ਟ ਦਵਿੱ ਚ ਷ਾਔਰਤਾ ਒ਰਤਾਂ ਦੀ ਦਕਣਤੀ ਷ਬ ਤੋਂ ਖਿੱ ਟ ਸ੄? 

Which group has the lowest number of literate women? 

(v) ਇਸ ਆਇਤ ਦਚਿੱ ਤਰ ਦਓ਷ ਷ੂਚਨਾ ਨੂੂੰ  ਦਰ਷ਾਉਂਦਾ ਸ੄।  
What information does this rectangle diagram represent? 
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5. ਦਦਿੱ ਤਾ ਦਕਆ ਩ਾਈ ਚਾਰਟ  ਇਿੱ ਓ ਬਾਰਤੀ ਰਾਜ ਦੁਆਰਾ ਷ਲਾਨਾ ਔ੃ਤੀ 
ਉਤ਩ਾਦਨ ਨੂੂੰ  ਦਰ਷ਾ ਦਰਸਾ ਸ੄। ਜ੃ਓਰ ਷ਾਰੀਆਂ ਵ਷ਤੂਆਂ ਦਾ ਓੁਿੱ ਲ ਉਤ਩ਾਦਨ 
8100 ਟਨ ਸ੅ਵ੃, ਤਾਂ ਸਰ੃ਓ ਉਤ਩ਾਦ ਦਾ ਉਤ਩ਾਦਨ ਩ਤਾ ਓਰ੅।  

The given pie chart shows the annual agricultural production 

 by an Indian state. If the total production of all commodities  

is 8100 tonnes. Then find the production of each product. 

 

6. ਦਦਿੱ ਤਾ ਩ਾਈ ਚਾਟ ਇਿੱ ਓ ਦਵਦਦਆਰਥੀ ਦੁਆਰਾ ਵਿੱ ਔ ਵਿੱ ਔ ਦਵਦਸ਼ਆਂ ਦਵਿੱ ਚ ਩ਰਾ਩ਤ ਅੂੰ ਓ ਦਰ਷ਾ ਦਰਸਾ ਸ੄। ਜ੃ਓਰ ਦਵਦਦਆਰਥੀ 
ਦੁਆਰਾ ਕਦਣਤ ਦਵਿੱ ਚ 180 ਅੂੰ ਓ ਩ਰਾ਩ਤ ਓੀਤ੃ ਸੁਣ ਤਾਂ ਩ਤਾ ਓਰ੅ : 

The given pie chart is showing marks obtained by a  

student in various subjects. If the student scored  

180 marks in Mathematics, now find: 

(i) ਓੁਿੱ ਲ ਩ਰਾ਩ਤ ਅੂੰ ਓ  
  Total marks Obtained. 

(ii) ਸਰ੃ਓ ਦਵਸ਼੃ ਦਵਿੱ ਚ ਩ਰਾ਩ਤ ਅੂੰ ਓ 

Marks obtained in each subject 

 
 
Comparing Quantities 

1H fJZe epZvh Nhw B/ 15 w?u y/v/ ns/ 60# w?u fiZs/. T[jBK B/ fezB/ w?u jkਰ੃ < 
A Kabaddi team played 15 matches and won 60% of the matches. How many matches did they lose? 
 
2H 600 o[gJ/ nzfes w[Zb tkbh c'N' co/w 450 o[gJ/ ftZu t/uh iKdh j?. eN"sh ns/ eN"sh gqshPs gsk eo'. 
A Photoframe is marked at  Rs.600 is sold for Rs. 450  What si the discount and discount percentage? 
 
3H fezB/ ;w/A ftZu 1600 o[gJ/ dh okPh 5# ;kbkBk do ;XkoB ftnki Bkb 1760 o[gJ/ j' ikt/rh< 
In what time Rs.1600 will amount to Rs.1760  at rate 5% per annum simple interest? 
 
4H w{bXB 10500 o[gJ/ dk 2 ;kb d/ bJh 5# ;bkBk do Bkb fwPos ftnki gsk eo' i/eo ftnki ;bkBk 
i[Vdk j't/. 
Find the compound interest for 2 years at 5% per annum compounded annually where principal is 
Rs.10500  
 
5H fJZe ftnesh fJZe g[okDh w'No;kJheb 16000 o[gJ/ ftZu yohddk j?. 5# ;bkBk do Bkb fJ;d/ w[ Zb ftZu 
ewh j' rJh. 2 ;kb pknd w'No;kJheb dk w[Zb gsk eo'. 
A person purchased a second hand bike for Rs.16000  If its rate depreciates at 5% per year. What will be 
its value after 2 years? 
 
6H e[Zb 20 ftfdnkoEhnK ftZu'A, 50# ftfdnkoEh ftfrnkB ftZu uzr/ jB. fizB/ ftfdnkoEh ftfrnkB ftZu 
uzr/ jB, T[jBK dh ;zfynk gsk eo'. 
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Out of 20 students in a class, 50% of students are good in science. Find the number of students good in 
science. 
 

7H fJZe SZs tkb/ gZy/ dk nzfes w[Zb 720 o[gJ/ j?. w";w bzxD s'A pknd fJj 684 o[gJ/ ftZu ਦਫਓ iKdk j?. 
eN"sh # gsk eo'. 
 The marked price of ceiling fan is Rs.720  During off season it is sold for Rs.684 . Determine the 

discount percentage. 
 
8H fJZe P'no{w ftZu NhHthH ;?ZN dk w[Zb 36500 o[gJ/ j?.fteoh eo dh do 8# j?.fpZb dh okPh gsk eo'. 
The cost of TV set at a showroom is Rs.36500. The sales tax is 8%. Find the bill amount. 
 
9H ;XkoB ftnki dh fe; do Bkb e'Jh okPh 2 ;kbK ftZu nkgD/ nkg jh d[ZrDh j' ikt/rh< 
At what rate of simple interest will a sum double itself in two years? 
 

10H fJZe wPhB d/ w[Zb ftZu 10# ;ਲਾਨਾ dh do Bkb ewh j[zdh j?. i/eo wPhB dk nZi dk w[Zb 1000000 j?, 
sK d' ;kb pknd T[;dk eh w[Zb j't/rk< w[Zb ftZu ewh th gsk eo'. 
The value of a machine depreciates at the rate of 10% per annum. If its present value is 1000000 Rs. 
What will be its value after two years? Also find the depreciation.  
 

Mensuration 

 
1. A flooring tile is in the shape of a parallelogram with 24 cm base and the corresponding 10 
cm height. Calculate the number of tiles required to cover a floor of area 1080 m² (If required 
you can split the tiles in whatever way you want to fill up the corners). 

ਇੁੱਕ ਪਰਸ਼ ਦਾ ਖ੃ਤਰਪਲ 1080 ਿਰਗ ਭੀਟਰ ਹ੄ ਅਤ੃ ਪਰਸ਼ ਤ੃ ਲੁੱਗਣ ਿਾਲੀਆ ਂਟਾਇਲਾ ਂਸਭਾਂਤਰ ਚਤੁਰਬੁਜ ਦ੃ ਆਕਾਰ ਦੀਆ ਂਹਨ ਵਜਸ 

ਦਾ ਆਧਾਰ 24 ਸਭ ਅਤ੃ ਉਚਾਈ 10 ਸਭ ਹ੄। ਪਰਸ਼ ਨੰੂ ਢੁੱਕਣ ਲਈ ਅਵਜਹੀਆ ਂਵਕੰਨੀਆਂ ਟਾਇਲਾਂ ਦੀ ਜਰੂਰਤ ਩ਿ੃ਗੀ।( ਲ੅ੜ ਩੄ਣ ਤ੃ 

ਵਕਨਾਵਰਆ ਂਤ੃ ਟਾਇਲ ਨੰੂ ਤ੅ੜ ਕ੃ ਲਗਾਇਆ ਜਾ ਸਕਦਾ ਹ੄।) 

 
 
2. The length and the breadth of a park are 30 m and 20 m respectively. A path of width 1m is 
made inside the park. The path is to be plastered with cement. If 1 bag of cement is required for 
4 m² path . How many bags of cement will be required for the whole path? 

ਇੁੱਕ ਩ਾਰਕ ਦੀ ਲੰਫਾਈ 30 ਭੀਟਰ ਅਤ੃ ਚ੆ੜਾਈ 20 ਭੀਟਰ ਹ੄। ਇਸ ਦ੃ ਅੰਦਰ ਚਾਰ੃ ਩ਾਸ੃ ਇਕ ਭੀਟਰ ਚ੆ੜਾਈ ਦਾ ਇੁੱਕ ਰਸਤਾ 

ਫਣਾਇਆ ਵਗਆ ਹ੄। ਰਸਤ੃ ਉੱ਩ਰ ਸੀਭੇਂਟ ਦਾ ਩ਲਸਤਰ ਕਰਨਾ ਹ੄ ਜ੃ਕਰ 4 ਿਰਗ ਭੀਟਰ ਉੱ਩ਰ ਩ਲਸਤਰ ਕਰਨ ਲਈ ਇੁੱਕ ਥ੄ਲਾ ਸੀਭੇਂਟ 

ਦੀ ਲ੅ੜ ਹ੄ ਤਾ ਂਰਸਤਾ ਫਣਾਉਣ ਲਈ ਕੁੁੱਲ ਵਕੰਨ੃  ਥੁੱਲ੃  ਸੀਭੇਂਟ ਦੀ ਲ੅ੜ ਩ਿ੃ਗੀ ? 

 
3. The floor of a building consists of 2400 tiles which are rhombus shaped and each of its 
diagonals are 45 cm and 32 cm. Find the total cost of polishing the floor, if the cost per m² is 
Rs.4 

ਵਕਸ੃ ਇਭਾਰਤ ਦ੃ ਪਰਸ਼ ਤ੃ ਸਭ ਚਤੁਰਬੁਜ ਆਕਾਰ ਦੀਆ ਂ2400 ਟਾਇਲਾ ਂਲੁੱਗੀਆ ਂਹਨ ਵਜਸਦ੃ ਵਿਕਰਨਾਂ ਦੀ ਲੰਫਾਈ 45 ਸਭ ਅਤ੃ 32 

ਸਭ ਹ੄। ਪਰਸ਼ ਨੰੂ ਩ਾਵਲਸ਼ ਕਰਨ ਦਾ ਖਰਚ ਩ਤਾ ਕਰ੅ ਜ੃ਕਰ ਇੁੱਕ ਿਰਗ ਭੀਟਰ ਨੰੂ ਩ਾਵਲਸ਼ ਕਰਨ ਦਾ ਖਰਚਾ 4 ਰ:ੁ ਹ੅ਿ੃।  

 
4. A closed cylindrical tank is made from a metallic sheet whose radius is 7 m and height is 3 m. 
Find the cost of making the tank at the rate of rupees 20 per square metre. 

ਇੁੱਕ ਫੰਦ ਸਲੰਡਰਾਕਾਰ ਟੈਂਕ ਵਜਸਦਾ ਅਰਧ ਵਿਆਸ 7 ਭੀਟਰ ਅਤ੃ ਉਚਾਈ 3 ਭੀਟਰ ਨੰੂ ਧਾਤ ਦੀ ਸ਼ੀਟ ਤੋਂ ਫਣਾਇਆ ਵਗਆ ਹ੄। 20 ਰੁ਩ਏ 

਩ਰਤੀ ਿਰਗ ਭੀਟਰ ਦੀ ਦਰ ਨਾਲ ਟੈਂਕ ਫਣਾਉਣ ਦਾ ਖਰਚ ਩ਤਾ ਕਰ੅। 
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5. ਵਚੁੱਤਰ ਵਿੁੱਚ ਵਦਖਾਈ ਩ੰਜ ਬੁਜ ਦਾ ਖ੃ਤਰਪਲ ਩ਤਾ ਕਰ੅। 

Find the area of the Pentagon shown in the figure.  

 
 
6. Diagram of the adjacent picture frame has outer dimensions 24 cm×28 cm and inner 
dimensions 16 cm×20 cm. Find the area of each section of the frame, if the width of each 
section is same. 

ਵਦੁੱਤ੃ ਵਚੁੱਤਰ ਅਨੁਸਾਰ ਇੁੱਕ ਤਸਿੀਰ ਦ੃ ਪਰ੃ਭ ਦ੃ ਫਾਹਰੀ ਬਾਗ ਦਾ ਭਾ਩ 24ਸਭ × 28 ਸਭ ਹ੄। ਜ੃ਕਰ ਅੰਦਰ ਿਾਲ੃  ਬਾਗ ਦਾ ਭਾ਩ 16 ਸਭ 

× 20 ਸਭ ਹ੄ ਤਾਂ ਪਰ੃ਭ ਦ੃ ਹਰ੃ਕ ਵਹੁੱਸ੃ ਦਾ ਖ੃ਤਰਪਲ ਩ਤਾ ਕਰ੅। 

 
 
 

7. ਦਚਿੱ ਤਰ ਦਵਿੱ ਚ ਦਦਔਾਈ ਛ੃ ਬੁਜ ਦਾ ਔ੃ਤਰਪਲ ਩ਤਾ ਓਰ੅ ਦਜ਷ ਦਵਿੱ ਚ 

Find the area of the hexagon shown in Fig. in which 

MP = 9 cm, MD = 7 cm, MB = 4 cm, AN = 2.5 cm, QD = 2 cm, MC = 6 cm, MA = 2 cm,  
OC = 3 cm, RB = 2.5 cm 

 
 
 

8. A road roller takes 950 complete revolutions to move once over to level a road. Find the area 

of road if the diameter of a road roller is 84 cm and length is 1m. ਇੁੱਕ ਰ੅ਡ ਰ੅ਲਰ ਸੜਕ ਨੰੂ ਩ੁੱਧਰਾ ਕਰਨ ਲਈ 

950 ਚੁੱਕਰ ਲਗਾਉਂਦਾ ਹ੄। ਸੜਕ ਦਾ ਩ੁੱਧਰਾ ਕੀਤਾ ਖ੃ਤਰਪਲ ਩ਤਾ ਕਰ੅ ਜ੃ਕਰ ਰ੅ਲਰ ਦਾ ਵਿਆਸ 84 ਸੈਂਟੀਭੀਟਰ ਅਤ੃ ਲੰਫਾਈ ਇਕ 

ਭੀਟਰ ਹ੄। 

 
9. The shape of a garden is rectangular in the middle and semi-circular at the ends as shown in 
the diagram. Find the area and the perimeter of this garden. 

ਇੁੱਕ ਫਗੀਚ੃ ਦਾ ਆਕਾਰ ਭੁੱਧ ਵਿੁੱਚ ਆਇਤਾਕਾਰ ਅਤ੃ ਵਕਨਾਵਰਆ ਂਤੋਂ ਅਰਧ ਚੁੱਕਰ ਦ੃ ਰੂ਩ ਵਿੁੱਚ ਹ੄ ਵਜਿੇਂ ਵਕ ਵਚੁੱਤਰ ਵਿੁੱਚ ਵਦਖਾਇਆ 

ਵਗਆ ਹ੄। ਫਗੀਚ੃ ਦਾ ਖ੃ਤਰਪਲ ਅਤ੃ ਩ਵਰਭਾ਩ ਩ਤਾ ਕਰ੅। 
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10. The length and the breadth of a rectangular park are 40m and 30m respectively. The Park 
has four square flower beds of size 2m × 2m as shown in the picture and the rest is covered 
with grass. Find 

1.  perimeter of the park  
2. area of the park  
3. area of four flower beds  
4. area covered by grass. 

ਇਕ ਆਇਤਾਕਾਰ ਩ਾਰਕ ਦੀ ਲੰਫਾਈ 40 ਭੀਟਰ ਅਤ੃ ਚ੆ੜਾਈ 30 ਭੀਟਰ ਹਨ। ਩ਾਰਕ ਵਿੁੱਚ ਵਚੁੱਤਰ ਅਨੁਸਾਰ ਵਿਖਾਏ 2 ਭੀ × 2 ਭੀ 

ਆਕਾਰ ਦੀਆ ਂਚਾਰ ਿਰਗਾਕਾਰ ਪੁੁੱਲਾ ਂਦੀਆ ਂਵਕਆਰੀਆ ਂਹਨ ਅਤ੃ ਫਾਕੀ ਥਾਂ ਤ੃ ਘਾਹ ਹ੄। ਩ਤਾ ਕਰ੅  

1. ਩ਾਰਓ ਦਾ ਩ਦਰਭਾ਩  
2. ਩ਾਰਓ ਦਾ ਔ੃ਤਰਪਲ 

3.  ਪੁਿੱ ਲਾਂ ਦੀਆਂ ਦਓਆਰੀਆਂ ਦਾ ਔ੃ਤਰਪਲ 

4.  ਩ਾਰਕ ਦਾ ਘਾਹ ਦੁਆਰਾ ਘ੃ਵਰਆ ਵਗਆ ਵਹੁੱਸਾ । 

 
  
11. The length and the breadth of a rectangular field are in the ratio 3:2. If the area of the field is 
294 m² , then find the cost of fencing the field at the rate of Rs. 8 per metre. 

ਇਕ ਆਇਤਾਕਾਰ ਖ੃ਤ ਦੀ ਲੰਫਾਈ ਅਤ੃ ਚ੆ੜਾਈ 3:2 ਵਿੁੱਚ ਹਨ। ਜ੃ਕਰ ਖ੃ਤ ਦਾ ਖ੃ਤਰਪਲ 294 ਿਰਗ ਭੀਟਰ ਹ੅ਿ੃ ਤਾਂ 8 ਰੁ਩ਏ ਩ਰਤੀ 

ਭੀਟਰ ਦ੃ ਵਹਸਾਫ ਨਾਲ ਖ੃ਤ ਦ੃ ਆਲ੃  ਦੁਆਲ੃  ਿਾੜ ਲਗਾਉਣ ਦਾ ਖਰਚ ਩ਤਾ ਕਰ੅। 
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